MDKPEFOHATIbHA
AKAOEMIA YNPABNIHHA MEPCOHANOM

%

MAYTI

KOMILJIEKCHI KBAJIIOIKAIIITHI
KOHTPOJIbHI 3ABIAHHA
3 TUCIHMILTIHU
“TIPAKTUYHUMN KYPC IEPIIOT
THO3EMHOI MOBU”
(anrmiiicbka MoBa)

(7151 crieniajicTiB CneniajJbHOCTI
“IIemarorika i METO/IMKa CEPe/IHbOI OCBITH.
Amnrmiiicbka MmoBa”)

Kuis 2006



[TinrotoBaeno nomenTom Kadeapn Teopii i MPaKTUKN TepeKIaTy
1. C. baxosum

3aTBep/KeHO Ha 3aciianHi Kadeapu Teopii i IPaKTHKN 1epeKiaLy
(miporokos Ne 6 iz 03.02.04)

Cxsaneno Buenoio padoro Miycpezionanwioi Akademii ynpasiinis nepconaiom

Baxos I. C. Komrutekcri kBasidikaiiitii KOHTPOIbHI 3aB/IaHHS 3 AUCITUTLII-
uu “Ilpaktnynuii Kypc mepirnoi iHo3eMHOI MOBU” (aHTJIiichka MOBa) (/JIsI CIie-
miasicTiB cremnianbiocti “Ilemarorika i MeTogmka cepeiiboi OCBiTH. AHTITIIChKA
moBa”). — K.: MAVTI, 2006. — 54 c.

Kommnexcni kBasmiikaniitii KOHTPOJIbHI 3aBAaHHs 3 gucnuiuting “IIpakTmy-
HUI KypC TepIioi iHo3eMHOi MOBHU~ (AHTJIICbKa MOBA) MiCTATh TOSICHIOBAJIbHY
3aITUCKY, KOHTPOJIbHI 3aBIAHHS, & TAKOK CITUCOK JIITEPATYPH.

© Mixperionanbia Axagemist
yrnpasriaus nepconasom (MAVYID),
2006



HOACHIOBAJIBHA 3AITHCKA

Kowmrurekcni kBasidikalliitHi KOHTPOJIbHI 3aBAAHHS € OJIHI€I0 i3 (hopM
KOHTPOJIIO SIKOCTI 3HaHb CTY/EHTIB 3 KypCcy HaBYaHHS 3a CHEIalbHICTIO
“Ilemarorika i MeToMKa cepeiHbOi OCBITH. AHTJIiIichKa MOBa”. BoHn Tie-
penbavyaTh BU3HAYEHHS PIBHSI ONAHYBAHHS CTYAEHTAMU aHTJHCHKOI
MOBU HaIIPUKIHI[ KypCy HaBYaHHSI.

3aBpanHg noOyg0BaHi BiAIOBIAHO A0 II0JIOKEHb OCBITHHO-KBaJIii-
KaIliifHOI XapaKTepPUCTUKY cremianbHocTi “Ilemarorika i MeToanKa cepen-
HBOI OCcBiTH. AHTJIiichKa MOBa”.

Pesynbratt KOHTPOJIIO € TOKA3HUKOM YCHIITHOCTI CTYI€HTIB, SIKi MOK-
Ha CIIiBBIZIHECTH 3 OYIKyBAaHMMU HABYAJIbHUMU JJOCATHEHHSIMU y BUBUEH-
Hi iHO3eMHO1 MOBH.

Mema KOMILJIEKCHUX KOHTPOJIbHUX 3aB/laHb — II€PEBIPUTH PiBEHb
cchopMOBaHOCTI yMiHb i HABUYOK 3 YCHOTO Ta MUCbMOBOTO MOBJIEHHSI, YU~
TaHHs, IIMChbMa 1 3aCTOCOBYBAHHS iX K 3ac00IB YCHOI Ta IMChMOBOI KO-
MYHIKAITii.

KomMruiekcHi KOHTPOJIbHI 3aB/IaHHSI CKJIAAAI0THCs 3 6 TUTaHb, SIKi 0XOTI-
JIIOIOTD Pi3Hi aCTIeKTU MOBJIEHHS.

Ilepwum 3aB/IaHHAM € TPOYUTATH HE3HAWOMMI HeaJlallTOBAaHUH TEKCT
AHTJTIHCHhKOIO0 MOBOIO i TEPEKJIACTH HOTO YKPAiHCHKOIO MOBOIO, TOCTABUTH
KiJIbKa MUTaHb 32 3MIiCTOM TeKcTy. [IuTaHHs MaoTh OyTH PI3HOTO THUILY
1 OXOILITIOBATHU 3MiCT ycboTo TeKcTy. lle 3aBmanHg /ja€ 3MOTy TepeBipUTH
BMIHHS CTY/ICHTIB YNTATU OPUTIHATIBLHY XYM0KHIO, HAYKOBY Ta CYyCIIiJIb-
HO-TIOJIITUYHY JIITEPaTypy, a TAaKOK TEKCTH Ha 1TOOYTOBI TeMH 3 Pi3HOIO
MeTO0 (PO3YMiHHS OCHOBHOTO 3MiCTY, TIOBHE 1 TOYHE PO3YyMiHHS 3MICTY,
BUJIyYeHHs JIIHTBiCTUYHOI iHdopmartii Ta ii iHTeprperaitis), 10TPUMYIO-
YKCh JIOTIYHOCTI, 3B’SI3HOCTI, 3aBEPIIEHOCTI, 0COGIMBOCTEN CTUIIIO, HOPM
oporpadii Ta myHKTYyaIIii.

/Jpyee Ta mpeme 3aBIaHHS MAIOTH 3MOTY TIEPEBIPUTH 3HAHHS 4aco-
BuX (hOPM aHTJIICHKOTO Ji€cioBa. Y Opyzomy 3aBIaHHI MPOIIOHOBAHE Y
JIy>KKax CJI0BO B iH(iHITUBHIN (pOpMi i/t 3acTOCYBaTH 32 3MICTOM Y BiJl-
MOBIHIN YacoBiil (popMi. ¥ mpemvomy 3aBIaHHI TPOTIOHYIOTHCS BapiaH-
THU BIJIOBiZIell Ha IIMTAHHS, cepell AKUX HeoOXiZHO 00paT PaBUIbHMIA
BapiaHT.

Yemeepme 3aBnaHus nepenbadac KOMIUIEKCHY MEPEeBipKY 3HAHb CTy-
JIEHTIB 3 PI3HUX acIeKTiB CUCTEMU MOBH. Y TPONOHOBAHOMY 3aB/aHHI
HeOOXiIHO 3HAUTH i BUNIPABUTH TIOMUJIKY, TIOCTABUBIIY [TO3HAYKK “TIpa-
BUJIbHO” 200 “HEIPaBUILHO” IIOPSA 3 KOKHUM i3 3aIPOIIOHOBAHUX pe-
YyeHb, y pasi HellpaBUJIbHOTO BapiaHTa CJIi/l BUIIPABUTH PEUCHHS.



Merta 'siTOTO Ta MIOCTOTO 3aBAaHb — ITePEBiPUTU pPiBeHb chOpPMOBa-
HOCTI y CTY/IEHTIB HABUYOK MEPEKJIA]TY.

Y wn’amomy 3aBIaHHI HaBEIEHO YKPAiHChKE PeYEHHS 3 KiJIbKOMA
BapiaHTaMu Tiepeksiaay. [ToTpiGHO BUOGpaTh MpaBUIbHUI BapiaHT.

Y wocmomy 3aBraHHI CIIijl IEPEKJIACTH YKPAIHChKUN TEKCT aHTJIICh-
KOIO MOBOIO.

Yac BUKOHAHHS BCiX 3aB/laHb cTaHOBUTH 80 XB, 30KpeMa TepIIoro 3a-
BIAHHS — 25 XB., IPYTOTO, TPETHOTO, YETBEPTOTO Ta I'siToro — 1o 10 xB.,
mocTtoro — 15 xB.

Kpumepii oyiniosanmns

Bukonani 3aBganng oninioors 3a 100-6a1bHOI0 HIKAI0IO.

IMepine 3aBmanust — 40 Gamis, apyre — 10 6asuis, Tpere — 10 Gais,
yerBepre — 10 Ganis, w'are — 10 Ganis, mocre — 20 Gauis.

ITix yac nepeBipku poOGOTH BUK/IaAay MiAKPECIOE IIOMUJIKY i IO3HA-
YA€ Ha TIOJISIX TUIT TIOMUJIKA Y€PBOHUM YOPHUJIOM. THIIN TTIOMUJIOK TTO3HA-
YalOThCS 1 OIIHIOIOTHCS TaK:

HelpaBubHe c10B0 — Lex., 1 Oau;

nyHkryaiig — P., 0,5 6auna;

rpamatuyHi nomuaku — Gr., 1 6ai;

CTUTCTUYHI TOMUIKH (Hanp., pycusmu) — St., 0,5 6aia;

HeNpaBUIbHUI NOPsAoK ciB y peuerni — W.O., 1 6au;

HeINPaBUJIbHO BXKUTI HpuiiMeHHuku — Prep., 0,5 6auna;

HEIPaBUJIBHO BKUTI criosyanuku — Conj., 0,5 6aia;

HEIPaBUJIbHO BAKUTI apTukai — Art., 1 6aur,

HeIPaBIIbHO BJKUTI yacoBi opmu miecmosa — T, 1 6au;

HenpaBuIbHUI abo HeTOuHMit nepekaan — Transl., 1 Gai:

cTuicTuyHi, opdorpadivuni MOMUIKK B MOBi Tepekygamxy — St.,

0,5 6aa.

Po6oTa OL[IHIOETHCS 32 TAKOIO LIKAIO0:

Omninka “BigmMinHO” cTaBuThed 3a HaGpani 93—100 Gauris;

“nobpe” — 3a 80-92 Gany;

“3am0B1IBHO” — 3a 65—79 GauriB;

“He3a/I0BLIBLHO” — 3a MeHIII 9K 65 6aJiB.

ITix yac BUKOHAHHS KOMILIEKCHOI KOHTPOJIbHOI pOOOTHU I03BOJSIETHCS
KOPUCTYBATUCS AHTJIOMOBHUM TJIYMAYHUM CJIOBHUKOM.



KOHTPOJIbHI 3AB/IAHHA
Bapianm 1
Task 1. Read and translate the text. Ask 5 questions to the text.

Five years ago four CC language laboratories began work so
that members could study foreign languages with greater efficiency.
The laboratories had been equipped in the most modern way imaginable
so as to offer optimum results with minimum effort. The greatest experts in
the field of methodology including Professor Paul Potter had been invited
to cooperate so that no detail should be overlooked. The non-CC experts
believed that they were cooperating with the Anti-Utilitarian Society in
its efforts to spread disinterested culture. Everything had been worked out
meticulously. Special super-uncomfortable chairs had been designed so
thatlearners could notand would not fall asleep in the laboratory. Virtually
nothing had been neglected. Earphones, for example, had been designed in
such a way that learners would remember the transmitted programme to
the end of their lives. The spectacular results obtained with the first four
language labs encouraged the experts to seek new possibilities. Last May, at
the suggestion of the CC Camouflage Department, a specialized laboratory
of Spoken Broken English was set up so that British members of the CC
Special Branch would be able to gain proficiency in speaking English
with various foreign accents. However, work had to be discontinued due
to the shortage, or at times even lack, of appropriate teaching materials.
Again Professor Paul Potter was invited to the Anti-Utilitarian Society
Centre for consultations. His instructions were followed closely. Foreign
speakers, who had managed to preserve their original accent unaffected
despite long years of intensive language instruction, were recorded so that
CC learners might have perfect models for imitation. A great deal of field
work had been done so that the laboratory would not lack suitable material.
The laboratory resumed work last October. The results are described as
incredibly good. Professor Paul Potter claims that he has created a new
branch of methodics: The Unteaching of English as a Mother Tongue.

Task 2. Use the verbs in brackets in the required Tense Form.
1. She never (to read) books on astrology.
2. This jumper (to wash) twice, and it has shrunk.

Task 3. Find the mistake in the underlined positions and correct it.
1. I'm less patienter than my brother is.

A B C D
2. I'd like some tea, but I don’t like none biscuits.
A B C D



Task 4. Fill in the gaps with the correct form of the verb.

1. If she lived in the country, she adog.
a) would have; b) will have; ¢) has; d) must have.
2. What to do tonight?

a) would you like; b) will you like; ¢) do you like; d) did you like.

Task 5. Chose the correct translation.

1. SIx OBrO TH YeKael Ha mpuOyTTs 1moi3ma?

A. How long are you waiting for the train to arrive? B. How long have
you waited for the train to arrive? C. How long have you been waiting
for the train to arrive? D. How long had you been waiting for the train to
arrive?

2. Vlomy nopajiuin He po3IoBifaTi iM icTopiio CBOTO KHUTTSL.

A. They advised not to tell the story of his life to them. B. He was
advised didn’t tell the story of his life to them. C. He advised not to tell
them the story of his life. D. He was advised not to tell the story of his life
to them.

Task 6. Translate into English.
1. JliTsaM HaKa3am rpaTUcs TUXO.
2. SIk6u B Mere GyJu Tporii, s 6 Kyruia 6araTo TapHOTO OJISTY.

Bapianm 2
Task 1. Read and translate the text. Ask 5 questions to the text.

Dr. Cracks and Mr. Screws are Mr. Crooksberry’s closest associates and
personal advisers. The two men represent two essentially different points
of view regarding CC policies. Dr. Cracks wants the Organization to be
constantly modernized and brought up to date. He would particularly
like to see electronic equipment used more extensively. He expects CC
members to devote a great deal of time to professional training. He
wants them to excel non-CC experts not only in professional skills but
also in physical fitness and mental resilience. He wants them not only to
work, but also to relax properly. They are not expected to be interested
in too many things. Great concentration should be followed by complete
relaxation and an absence of perplexing problems. Dr. Cracks insists that
the CC should provide tennis courts and swimming pools for its members.
Mr. Screws, on the other hand, demands that the Organization should be
run more economically and looks upon all problems in terms of money. This
is not surprising because Mr. Screws is in charge of the CC finances. He is



anxious that the CC gold reserves should be untouched. To him electronic
equipment, tennis courts and swimming pools are nothing compared with
the gold reserves. He desperately tries to make Mr. Crooksberry see the
danger of excessive spending. Once, while at Mr. Crooksberry’s birthday
party, Mr. Screws was even heard to talk about the CC trade deficit,
but people were too busy to listen to him carefully. Mr. Crooksbenry
understands that both Dr. Cracks and Mr. Screws are right. It is necessary
that modern equipment should be brought into service and at the same time
it is essential that the expenses should be kept down to a minimum. There
is only one way of resolving this dilemma: forcible acquisition of modern
equipment on a non-payment basis. But this still leaves the problem of
the tennis courts and swimming pools unsolved.

Task 2. Use the verbs in brackets in the required Tense Form.

1. When the Americans (to land) on the Moon?

2. Stradivari’s best instruments (fo make) in 1720.

Task 3. Find the mistake in the underlined positions and correct it.
a) The Queen’s the most rich woman in the world.

A B C D
b) There are a few carrots, we don’t need much of them.
A B C D
Task 4. Fill in the gaps with the correct form of the verb.
1. If she in the evening, she would have more time to play with
the children.
a) wouldn’t work;  b) doesn’t work;
¢) don’t work; d) won’t work.
2. My teachers always expected me  well in exams.

a) doing; b) will do; ¢) to do; d) do.

Task 5. Chose the correct translation.

1. [I>xoH He Mir amycuTu cebe moBepHyTHCs 10 JIOHIOHA.

A. John couldn’t make himself return to London. B. John couldn’t
made himself return to London. C. John couldn’t makes himself return to
London. D. John couldn’t make himself to return to London.

2. MeHi 0yJI0 IPUEMHO AyMAaTH, L0 HIXTO He 3HAE IIPO MOI IIJIaHN.

A. Tt pleased me to think that nobody didn’t know about my plans.
B. It pleasant for me to think that nobody knew about my plans. C. It
pleased me think that nobody knows about my plans. D. It pleased me to
think that nobody knew about my plans.



Task 6. Translate into English.
1. Bu 6 BupouyBajiu 0BoYi, IKOU KUK Y ceJti?
2. MeHe criutainy, ie KBApTUPHE areHTCTBO.

Bapianm 3
Task 1. Read and translate the text. Ask 5 questions to the text.

Experts of the British Branch from the CC Psychological Department
claim that it is possible to find conclusive evidence in favour of the thesis
that. CC activities constitute a socially and economically constructive
element within the framework of the welfare state. They do not exclude
the possibility that there exists equally conclusive evidence to support
the theory that the CC’s active presence constitutes a highly positive
factor in other models of economic and social organization, but that does
not directly concern the British Branch. The British Branch experts
describe the present day situation of Britain in the following way: ‘The
welfare state offers its citizens too many facilities and makes them feel too
secure. People grow lazy and their energies diminish. The National Health
Service helps people to get old. The population of Britain is getting older
and older, more and more unproductive, less and less energetic, sadder
and sadder, more and more hopeless. All that is due to the fact that people
get much more money than they ought to get and are encouraged to live
much longer than they ought to live. Many people live almost as long as
they like and not infrequently much longer than they like. The question
arises: ‘Can the British manage to survive as a young and healthy nation?’
The answer is simple: ‘Yes, they can. Thanks to the CC’. The CC removes
the superfluous and harmful feeling of security and thus makes people feel
younger and more aggressive. Life becomes more dramatic and shorter.
People learn to live with greater intensity. The CC enables them to get rid
of their money and seek more permanent values, according to the principle:
‘the worse off materially the better off spiritually’. Every increase in the
CC net profits brings about a corresponding increase in public health and
morality. Thanks to the CC, public complacency is eliminated, the sense
of tragedy is kept alive and restored to its full dignity.’

Task 2. Use the verbs in brackets in the required Tense Form.

1. She met her husband while she (¢o learn) English at Cambridge.

2. Your house (o decorate) recently?

Task 3. Find the mistake in the underlined positions and correct it.

1. The world’s most small countries are Vatican City and Monaco.
A B C D



2. Dogs are more friendly that cats.

A B C D
Task 4. Fill in the gaps with the correct form of the verb.
1. The dentist told me more careful when I brush
my teeth.
a) to be; b) being; ¢) be; d) was.
2. Ashley is allergic to cheese. If he cheese, he gets

an awful rash.
a) is eating; b) will eat; ¢) has eaten; d) eats.
Task 5. Chose the correct translation.
1. Mlomy e noBesiocs xutu y JIOHIOHI BITKY.
A.He hadn’t to live in London in summer.
B. He wasn’t to live in London in summer.
C.He couldn’t have to live in London in summer.
D.He didn’t have to live in London in summer.
2. Kosvt s TpPOKUHYBCS, TO BiJ[4yB, 1[0 TOPA BUKJIUKATH JIKAPS.
A. When T woke up I was feeling it was time to call a doctor.
B. When I woke up I felt it had been time to call a doctor.
C.When I had woken up I felt it was time to call a doctor.
D.When I woke up I felt it was time to call a doctor.

Task 6. Translate into English.

1. Meni noscauiu, Mo paxyHKH 3a eJEKTPUKY Ta ra3 3apaxoBaHi /10
OPEHIHOI TLIaTH.

2. Mu mizieM0 3a OKYTIKaMH, KOJIU Mara3uHu Oy/IyTh MOBHI Pi3IBSIHUX
MTOZIAPYHKIB.

Bapianm 4
Task 1. Read and translate the text. Ask 5 questions to the text.

By the time you have reached the end of this book many things will
have happened which have not been recorded here. That is quite natural,
for life is always well ahead of books. However, in this epoch of science and
technology it is possible to go a long way beyond what is natural and foresee
future events with surprising clarity and exactitude. Believe it or not, owing
to a special time telescope our experts have managed to foresee the future of
the persons described here. The following things will have happened by the
time you have reached the end of this course: Mr. Hawk will have married
Alice Elliott. They will have emigrated to Australia and bought a farm there.
Peter Snop will have returned to Poland and taken his doctor’s degree. The
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title of his dissertation cannot, for certain reasons, be disclosed at present.
Mr. Baxter will have had a coronary from which he will have recovered
and will again be as energetic as ever. Miss Clara Flight will have become
head of the Sociological Department of a newly established non-academic
centre. Mr. Crooksberry, accompanied by Dr. Cracks and all the other
leading members of his staff, will have boarded a huge CC space rocket and
after a brief, but entirely successful flight, will have disappeared in space.
When these words are being printed, their whereabouts is estimated to be
about thirty million light years from the Earth. As a result of this deplorable
accident, the CC will have ceased to exist as a world organization.

Mr. Cyril Cleaves will have been forgotten as an abstract painter only to
reappear on the stage of life as a gentleman of leisure. Professor Paul Potter
will have worked out a foolproof method of teaching foreign languages to
machines. Thanks to his unflagging efforts, methodics will have become
the purest of all applied sciences. It will be practiced by machines through
machines for machines. That, however, need not discourage learners from
using this book. They will have mastered English sufficiently well to
outwit the cleverest computer.

Task 2. Use the verbs in brackets in the required Tense Form.
1. Scientists (zo find) a cure for cancer in the nearest future?
2. School teachers (to pay) about £ 15,000 a year.

Task3. Find the mistake in the underlined positions and correct it.
1. Did you have much problems with this exercise?
A B C D
2. English grammar is less easy than German grammar.
A B C D
Task 4. Fill in the gaps with the correct form of the verb.
1. They refuse out on trips if it’s too hot.
a) will go; b) going; ¢) go; d) to go.
2. You make such delicious cakes. If you sold them you
a fortune.
a) would make; b) will make; ¢) make; d) have made.

Task 5. Chose the correct translation.

1. Bin 6yB Tozi XBopuid, TOMY ii 3aMIIMINA JOIISIAATH HOrO.

A. He was ill at that time and she left to look at him. B. He was ill at
that time and she was left to look at him. C. He was ill at that time and
she was left to look after him. D. He was ill at that time and she was left
to look at him.
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2. C1p031 IOTIOMOTJIA MEHI BiIYyTH MOJIETIIIEHHSI.

A. The tears made me to feel relaxation. B. The tears made me feeling
relaxation. C. The tears made me feel relaxation. D. The tears made me
felt relaxation.

Task 6. Translate into English.

1. KBapTupomaselp oBijoMmuia HaM, MO TIOMiHsJIa KUJTAMOBE TMOK-
PUTTS B yciX KiMHaTaXx.

2. Jx6u 1 MaB MOKJIUBICTD MO3WYHUTH TPOIIT, 51 6, MOKJIUBO, 10Oy LY-
BaB [TiM.

Bapianm 5
Task 1. Read and translate the text. Ask 5 questions to the text.

CC economic experts are of the opinion that the overhead expenses
of the Organization are too high. They say that unless productivity is
considerably increased it will become necessary to freeze the basic salaries.
The CC member’s pay consists of a basic salary plus a bonus the amount of
which is fixed according to the value of the work done in a given month.
At present a system of special incentives and other measures is being
worked out so as to boost productivity. Special premiums will be paid
for courage combined with caution so that these virtues should flourish
among CC members. Bonuses will also be paid for the carrying out of
difficult tasks so that the members will not become effete. At the same
time new equipment will be brought into service so that members will be
able to keep abreast of technological progress. Premiums will be paid for
high proficiency in foreign languages so that international cooperation
within the CC may become closer and more effective. Experts of the
CC Psychological Department propose to introduce special bonuses
for persons holding academic degrees so as to encourage intellectual
development among members. Various kinds of competitions will be
organized so that members can demonstrate and further develop useful
skills. Masked balls will be held regularly so that operatives can test the
credibility of their disguises and the reliability of the new voice-changing
devices. It is expected that these and other measures will result in a
decisive improvement in the field of CC productivity so that no wage
freeze will have to be introduced.

Task 2. Use the verbs in brackets in the required Tense Form.
1. T was nervous because I not (¢o fly) in a plane before.
2. Three teenagers (to give) an award for bravery yesterday.
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Task 3. Find the mistake in the underlined positions and correct it.
1. I bought many fruit, but they didn’t have any vegetables.
A B C D
2. The English Channel at its most narrow part is 32 kilometres wide.
A B C D

Task 4. Fill in the gaps with the correct form of the verb.

1. We decided a house with a swimming pool.

a) rent; b) to rent; ¢) renting; d) would rent.

2. What would you do if your baby into the water?
a) fell; b) would fall; ¢) might fall; d) with fall.

Task 5. Choose the correct translation.

1. Bysao #iomy noBoamaoch gitatu 10 JIoHgoHa, 06 106aYuTHICh 3
a/IBOKATOM.

A. He used to have to fly to London to meet his solicitor.

B. He used having to fly to London to meet his solicitor.

C. He would fly to London to meet his solicitor.

D. He used he had to fly to London to meet his solicitor.

2. Yyopa o6ikpasu Hanionansauii Bark Bpuramii.

A. The British National Bank was robbed yesterday.

B. Thieved stole the British National Bank yesterday.

C. Someone has robbed The British National Bank yesterday.

D. Yesterday someone stole the British National Bank.

Task 6. Translate into English.
1. Panimre BoHa He 3aiiMajiacsi BEPXOBOIO 1371010, a 3apa3 30MPAEThCL.
2. Kum 6yB pospobirenuii ausaiin asromobias “@osbkesaren Biti”?

Bapianm 6
Task 1. Read and translate the text. Ask 5 questions to the text.

Dr. Cracks does not try to conceal the fact that he is fascinated by
the developments in the field of technology and applied science. He finds
particular pleasure in having various ultra-modern devices installed in his
house: Lately several self-regulating automatic devices such as an electronic
butler and an automatic secretary, have been added to his collection. He
has had the electronic butler equipped with perfect manners and the ability
to do without sleep. The robot is so clever that he can steal small quantities
of spirits and drink them without becoming intoxicated. The automatic
secretary has an amazing memory but it lacks feminine charm. That is why
Dr. Cracks has decided to have it dismantled and a more feminine model put

12



in its place. Dr. Cracks has recently had a special TV screen installed in his
study. On it he can watch the behavior of various CC members who happen
to be within a range of 500 miles. He is planning to get the range extended
to 5000 miles. In the privacy of his study Dr. Cracks sometimes toys with
the idea of having an automatic CC Chairman made to order. Dr. Cracks
cannot help noticing that Mr. Crooksberry, although exceptionally gifted,
is not always able to cope with his numerous responsibilities. However,
Dr. Cracks does not at present contemplate the possibility of having
Mr. Crooksberry pensioned off.

Task 2. Use the verbs in brackets in the required Tense Form.
1. My stomach-ache disappeared after I (to take) some medicine.
2. In the first year of Coca-Cola only nine drinks a day (¢o sell).

Task 3. Find the mistake in the underlined positions and correct it.
1. Mummy'’s croissants are much more better than aunty’s.
A B C D
2. The shop hasn’t got many washing power.
A B C D

Task 4. Fill in the gaps with the correct form of the verb.

1. Everyone hopes themselves on holiday, but it isn’t easy.
a) enjoying; b) enjoy; ¢) will enjoy; d) to enjoy.

2.1 toworkif I didn’t feel soill.

a) would go; b) go; ¢) must go; d) went.

Task 5. Choose the correct translation.
1. Koo s noixas 710 odicy, s 3po3yMiB, 110 3a0yB 3aUMHUTH BXiIHI
ZIBEPI.
A. When I got to the office I realized I forgot to lock the front door.
B. When T got to the office T realized T had forgotten to lock the front
door.
C.When T got to the office T had realized to forget to lock the front
door.
D.When T had got to the office T realized I forgot to lock the front
door.
2. 41 3HaB, 10 MOXKY JOINOMOITH iii, SKIIO TIIbKKA OyAy TPUMATHU A3KUK
3a 3ybamu.
A.Tknew I could only help her if T should keep my mouth shut.
B.T knew I could only help her if T kept my mouth shut.
C.Tknew I would only help her if I keep my mouth shut.
D.I knew I can only help her if T will keep my mouth shut.
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Task 6. Translate into English.
1. flx yacTo MPUHOCATH MTOMITY Y BAIIOMY MiCTi?
2. 4 mompocuia 103BOJNTH MEHI TTH HA KOHIIEPT Y 1T ITHUITIO.

Bapianm 7
Task 1. Read and translate the text. Ask 5 questions to the text.

Last Tuesday was the most unusual day in Mr. Hawk’s life as a clerk.
He stayed in the office all day and did absolutely nothing although there
was a great deal of work to be done. He ought to have sent off a very
important letter. He should have interviewed a client interested in booking
a seat on the first British Passenger Moon Rocket to be launched in the
year 2000. He ought to have finished writing a report for Mr. Baxter. He
should have made a long distance telephone call to the American branch
of the firm. And yet he did absolutely nothing. He felt as if paralyzed by an
inexplicable feeling of euphoria. On the following day he was dismissed by
Mr. Baxter. Mr. Hawk did not show the slightest regret although he could
not explain, even to himself, why he felt so carefree. A day later he won a
fortune from the pools.

At present Mr. Hawk, deliriously happy, is being examined by ESP
(Extra Sensory Perception) experts who claim to have at last found
conclusive evidence in favor of the pre-cognition theory. The experts
maintain that Mr. Hawk must have felt that he was going to win long before
this actually happened although the feeling was largely subconscious. He
must have known that the luckiest moment in his life was approaching. He
may even have subconsciously guessed the exact amount of money that he
was going to win. He may have had dreams which he later forgot. Some
experts go even further and do not exclude the possibility that Mr. Hawk
might have actually seen the lucky numbers during a subsequently
forgotten doze in the office (Mr. Hawk frankly admitted having dozed
in the office on more than one occasion). The relevant information
concerning the numbers must have been stored just below the threshold
of his subconscious mind because otherwise he would not have dreamed
the dream early enough to fill in the coupons in time. He might even not
have dreamed it at all. Mr. Hawk is very cooperative in giving frank and
highly illuminating interviews and press conferences.

Task 2. Use the verbs in brackets in the required Tense Form.
1. He’s tired because he (to travel) round London all day.
2. What factory (fo show) to the tourists tomorrow?
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Task 3. Find the mistake in the underlined positions and correct it.
1. Brunei is one of the smallest but the most rich countries in the
world.
A B C D
2. There are a lot of flour but very little butter.
A B C D

Task 4. Fill in the gaps with the correct form of the verb.

1. When we arrived the people next door invited us a
drink with them.

a) for have; b) have; ¢) to have; d) having.

2. If1 a princess, I'd have servants to look after me.

a) were; b) will be; ¢) am; d) would be.

Task 5. Choose the correct translation.

1. BaTbKo OYB PO3JIFOUCHIIT, TOMY IO 51 PO3OWB HOTO MATIHHY.

A. My father was furious because I crashed his car. B. My father was
furious because I has crashed his car. C. My father was furious because I
had crashed his car. D. My father was furious after I had crashed his car.

2. CroziBaynch, 10 BIH Ma€ 3B’SI3KU 3 JIOHJOHCHKUM BiAIJI€HHSIM
dbipmn.

A.He was expected to have connections with the London branch of

the firm.

B. Some expected him have connections with the London branch of

the firm.

C.He expected to have connections with the London branch of the

firm.

D.He was expected by some having connections with the London

branch of the firm.

Task 6. Translate into English.
1. Bin 3ampornonyBaB MOapyBaTH iif KHUTY KyJiHADHUX PEIETTiB.
2. Kosu Oy 3Hecenuit BepiiHChK it Myp?

Bapianm 8

Task 1. Read and translate the text. Ask 5 questions to the text.

At Westminster yesterday the parliamentary debate continued on
the criminal activities of the gigantic gangster organization known
to the police as the CC. The problem has been raised in the House of
Commons several times before. Yesterday it was again the subject of
debate in the House of Lords. The Home Secretary, who had been invited

15



to attend the debate, found himself in rather an awkward position when
he became the target of the Lords’ critical remarks. Lord Randall asked
when the police intended to arrest a Mr. Crooksberry the alleged CC
leader and why this had not been done before. Lord Oxendale wanted to
know how long the Home Secretary expected it would take the police to
put an end to the CC activities in this country and how much it would
eventually cost. Lord Hucksford demanded that the Home Secretary
should tell the Lords how many policemen had been bribed and had in
fact cooperated with the CC. Lord Foxcastle expressed the opinion that it
was essential to establish whether a Mr. Crooksberry really existed before
making any arrangements for his arrest. Lord Manesborough asked where
Superintendent Pillows of New Scotland Yard had been when the Bank
of England robbery had been committed and who was responsible for
the failure to trace the robbers. Lord Bloomskirk wanted to know whether
the Home Secretary was contemplating the possibility of handing in his
resignation in case it was proved conclusively that an individual of the
name of Crooksberry really existed and was in fact connected with what
was popularly referred to as the CC.

Task 2. Use the verbs in brackets in the required Tense Form.
1. You (to break) my camera! Look at it. It’s no use!
2. Hurry up. You (to wait) for.

Task 3. Find the mistake in the underlined positions and correct it.
1. She is much more outgoing then many Bruneian girls.
A B C D
2. The children used to stop to spend a little pence on sweets.
A B C D

Task 4. Fill in the gaps with the correct form of the verb.

1. My teacher let me home early because I fell ill.

a) go; b) to go; ¢) going; d) must go.

2. Will you go skiing if it ?

a) doesn’t snow; b) won’t be snow; ¢) is not snow; d) won’t snow.

Task 5. Choose the correct translation.

1. X'fo mpounTaB pereHsilo Ha 1[I0 KHUTY B OJHIll 3 aMEePUKAHCHKUX

raser i 3ampomoHyBaB KYMUTH i1 71T 6iOTOTEK .

A. Hugh read a review of the book in American paper and suggested to
buy it for the library.

B. Hugh had read a review of the book in American paper and suggested
it to be bought for the library.
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C.Hugh has read a review of the book in American paper and suggested
it to buy for the library.

D.Hugh read a review of the book in American paper and suggested
buying it for the library.

2. Yepes 1IyM s He MiT TTIOYYTH, TIPO 1[0 BOHU TOBOPSTS.

A. The noise made impossible to hear what they were talking about.

B. The noise made it impossible hear what they were talking about.

C.The noise made it impossible for me to hear what they were talking
about.

D.The noise made it impossible for me to hear what they are talking
about.

Task 6. Translate into English.
1. Ham He moTpiGHO mepeiiMaTrCst, Ui HAC 3aIPOCITh Ha HOBOCIJIIIS.
2. 51 He Mir 36arHyTH, YOMY BOHA TaK PaHO IIIJIA 3 BEUiPKH.

Bapianm 9
Task 1. Read and translate the text. Ask 5 questions to the text.

Statistics show that the incidence of heart disease is much higher
among CC members than among other professional groups. A number of
eminent cardiologists have been consulted indirectly and their opinions
are almost identical. Several factors are believed to cause heart trouble
among CC members. The main factor is the mental stress involved in the
carrying out of professional duties. CC medical specialists are inclined to
agree with that, but they have their own ideas about the nature of mental
stress and strain, They contend that mental stress is caused by mental
germs which attack the central nervous system. It is logical to suppose,
they argue, that mental stress germs (called mental germs) could be
killed by applying a suitable vaccine. Such a vaccine could be obtained
from other fields of professional activity. Various professions have been
carefully examined, but no mental germs of sufficiently destructive power
have thus far been discovered. At present research work is being carried
out in all the professional groups listed in the Encyclopedia Britannica.
Extensive work is being done systematically. The professions are being
examined in alphabetical order.

Task 2. Use the verbs in brackets in the required Tense Form.

1. When we (to get) to the end of this century, Tokyo will have a
population over 15 million people.

2. When the bell rang this question still (zo discuss).
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Task 3. Find the mistake in the underlined positions and correct it.
1. There are very little onions left.
A B C D
2. Your native town is three times as bigger as mine.
A B C D

Task 4. Fill in the gaps with the correct form of the verb.

1. My parents make me the piano for 2 hours every day.
a) play; b) to play; ¢) playing; d) played.

2. If there a fire, if will be put out by robots.

a) is; b) are; ¢) will be; d) were.

Task 5. Choose the correct translation.
1. Bin yekaB, JOKU BOHA MOSICHUTH, YOMY BOHA TaK JKOPCTOKO HOT0 00-
MaHyJia.

A. He waited till she explained why she had deceived him so bitterly.

B. He waited till she would explain why she had deceived him so
bitterly.

C.He waited till she had explained why she has deceived him so
bitterly.

D.He had waited till she explained why she had deceived him so
bitterly.

2. He npuroraiite MeHe MOPO3UBOM, 6O st MOKY 3aCTYIUTH TOPJIO.

A.Don’t treat me to any ice-cream, or I might have a sore throat.

B. Don’t treat me to an ice-cream, because I will have a sore throat.

C.You mustn’t treat me to any ice-cream, or I will have a sore throat.

D.You don’t have to treat me to any ice-cream, so that I shouldn’t have
a sore throat.

Task 6. Translate into English.

1. Yu notpibui OyayTh JIOAIM AepeBa i 3e1eHe JOBKILIA, SIKIO BOHK
skuTUMyTh y XXI cTostiTTi y XMapodocax?

2. Bona 3amuTaia, KoJiu st IoBepHy GOpT.

Bapianm 10

Task 1. Read and translate the text. Ask 5 questions to the text.

The Mental Health Subcommittee of the CC Psychological
Department is meeting today in order to discuss the sensational

discovery made by the experts examining various professions for mental
germ concentration. The experts have discovered that members of three
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professions show concentrations of mental germs comparable to that
found in CC members. The professions are: business, psychiatry and
philology. Experiments have shown that the philological variety is the
most virulent one and that it contains a certain proportion of historical
(some experts spell it: hysterical), philosophical and logical germs.
Experts claim that dead philological germs if administered in the form
of monotonous lectures would constitute a perfect vaccine against states
of mental fatigue and stress encountered in CC patients. This kind of
treatment, if applied consistently over prolonged periods of time, would
eventually lead to arevolution in the therapeutic methods used in CC
hospitals.

Task 2. Use the verbs in brackets in the required Tense Form.

1. We (%o think) of going to Spain for our holidays. I'll let you know
when we decide upon it.

2. Three pictures (to steal) from the National Gallery lately.

3. When the director asked her to play the lead she agreed though she
didn’t know anything about the play. I think if she (read) the play first he
(refuse) the part.

Task 3. Find the mistake in the underlined positions and correct it.
1. We went to the pictures twice a week, and it only costed six pence.

A B C D

2. We used to going to the seaside every summer.

A B C D
Task 4. Fill in the gaps with the correct form of the verb.
1. I tried the lecture but it was too difficult.
a) understand,; b) would understand;
¢) to understand; d) understanding.
2. Assoon as I , I'll give you a ring.
a) arrive; b) arrived;
¢) will arrive; d) would arrive;

Task 5. Choose the correct translation.

1. /lutuHa He nodyBasacs 6 TAKOIO HELIACIUBOIO, AKOU PO Hel A6l
A. The child wouldn’t feel so miserable if she were taken care of.

B. The child won’t feel so miserable if someone took care of her.

C. The child wouldn’t feel so miserable if she would be taken care of.
D. The child wouldn’t feel so miserable if she took care of.
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2. Bin MmycuB mijgcyHyTucs 6mxde, o0 IMouyTH ii.
A. He had to move closer to hear her.

B. He was to move closer to listen to her.

C. He might move closer to listen her.

D. He should move close to hear her.

Task 6. Translate into English.

1. Bin 3anuTaB, Yu Mara3uH Mparoe y BUXiIHi.

2. Bam He noBemeThCS BUTpadaTh 6araTo 4acy Ha OTUIATy PaxXyHKiB,
SIKIIO BU CKOPUCTAETECh KPEAUTHUMY KapTKaMU.

Bapianm 11

Task 1. Read and translate the text. Ask 5 questions to the text.
The Fog Horn (an extract)
by Ray Bradbury

(The action of The Fog Horn takes place in a lighthouse, somewhere on
a rocky island off the coast of an unnamed country, in our time.)

The lighthouse and its fog horn are manned by Mr. Mc. Dunn, who has
worked there for a number of years, and his assistant Johnny, a younger
man, who is the narrator of the story. Johnny is due to go to the mainland
the next day for a brief period of rest. It’s November, the night is dark,
the sea is dark, and the fog is getting thicker, as it usually does at the
time year. Mc. Dunn, who seems worried, has just warned his companion
that perhaps they should prepare themselves for some strange happening.
The preceding year, at about this time and in the same kind of weather,
Mc. Dunn had seen something in the ocean, something that circled
the lighthouse as if looking at it. Mc. Dunn feels that the “something”
might come again soon. The two men climb all the way to the top of
the lighthouse, where the light and the horn are located. After a while,
Mc. Dunn suddenly points outside: “something” is indeed swimming in
the sea.

And here is the rest of the story as Bradbury tells it.

It was a cold night, as I have said; the high tower was cold, the light
coming and going, and the Fog Horn calling and calling through the
raveling mist. You couldn’t see far and you couldn’t see plain, but there
was the deep sea moving on its way about the night earth, flat and quiet,
the colour of grey mud, and here were the two of us alone in the high
tower and there, far out at first, was a ripple, followed by a wave, a rising,
a bubble, a bit of froth. And then, from the surface of the cold sea came a

20



head, a large head, dark-colored, with immense eyes, and then a neck. And
then not a body — but more neck and more! The head rose a full forty feet
above the water on a slender and beautiful dark neck. Only then did the
body, like a little island of black coral and shells and crayfish, drip up from
subterranean. There was a flicker of tail. In all, from head to tip of tail, I
estimated the monster at ninety or a hundred feet. T don’t know what I
said. I said something.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. Of course I'm not gong to give her a diamond ring. If T (give) her a
diamond ring she (sell) it.
2. If someone (say), “I'll give you $500 to go into court and swear that
this statement is true”, what you (do)?

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. The jewel was shown to the prospective buyer.

2. Her hair shown in the bright sunlight.

3. The sun shone brightly this morning.

4. T have never been shown how to use this machine.

3. No error.

Task 4. Fill in the gaps with the correct form of the verb.

1. are words which have the same or similar meanings.

a) Articles; b) Synonyms; ¢) Syllables; d) Suffixes.

2. Could you _the tape recorder and turn it on.

a) rub out; b) look up; ¢) plug in.

3.°  patient’ is the opposite of ‘patient’.

a) il-; b) im-; ¢) in-.

Task 5. Choose the correct translation.

1. 4 nymato noixaru jio Jlongona.

A. I think of going to London. B. I think to go to London.

C.Ithink to goin London.  D. I think of going in London.

2. Bin ckasas, 110 npuijie 3aBTpa.

A. He said that he would come tomorrow. B. He said that he will come
tomorrow. C. He said that he shall come tomorrow.

Task 6. Translate into English.

1. Bona Bske Tpu poKHM HA TICHCII.

2. CxiibKM 4acy BOHA BJKe PO3MOBJISIE TIO TenehOoHy ?

3. Mu npourTajiu B TaseTi, 10 Ha [[bOMY MicIi 30yAyOTh HOBHII TO-
TEJIbHUH KOMTLJIEKC.
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Bapianm 12
Task 1. Read and translate the text. Ask 5 questions to the text.

(Dr. Cracks’s opening address delivered at the 9th Annual Congress of
the CC Economists.)

“Mr. Chairman, ladies and gentlemen, I have the honour and the
privilege to open this Congress at a time when everyone can say truthfully:
‘Never in history has Britain and indeed the whole world been more
prosperous or happier than it is now’. But not everyone knows that this
common truth has become a reality thanks to the efforts of the CC. Where
would the world be today without CC planners? What would it do with
the surplus currency reserves? How would the governments manage to
survive without the stimuli provided by our striking units? Who in the
whole world would care even to look at the daily papers if we did not
continuously supply them with thrilling news? The radio and television
would go bankrupt were it not for our efforts. The magnificent edifice
of human culture would crumble and fall and the world would become a
gigantic pool of placid boredom instead of what it is today. The flower of
culture, ladies and gentlemen, grows on the soil of sound economy. And it
is you who cultivate this soil. Without your creative contribution world
economy would become barren and we should be deprived of its fruits.
Without your work we would never be able to achieve and maintain
the present-day living standards. We could never be what we are today.
We might even have to seek employment outside the CC. We would be
destitute both spiritually and materially.

On behalf of the CC T wish you, ladies and gentlemen, fruitful and
successful debates.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. If we (work) all night we (finish) in time; but we have no intention
of working all night.
2. You must never blow out a gas light. Do you know what (happen) if
you (blow) a gas light?
Task 3. Find the mistake and correct it. If there is no error, choose
option 3.
1. T would like you to cite at least three examples.
2. Her husband was cited for contempt.
3. For that sight, we’re planning a municipal parking lot.
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4. When the bridge is within your sight, start looking for our street.
3. No error.

Task 4. Fill in the gaps with the correct form of the verb.
1. isthe tax you pay on money that you earn.

a) Salary tax; b) Capital tax; ¢) Employment tax; d) Income tax.
2. She speaks English fluently, but she hasa _ accent.

a) strong; b) big; ¢) heavy.

3. Did you have any help or did youdo it your own?

a) by; b) for; ¢) on.

Task 5. Choose the correct translation.

1. Bin BuieBHEHUIT B yCITiXY.

A. He is sure for success. B. He is sure at success.

C. He is sure of success. D. He is sure in success.

2. TopMHHUK TIPOOUB.

A. The clock has struck. B. The clock struck. C. The clock is struck.

Task 6. Translate into English.

1. /liTsam HaKa3aau rpaTUCS TUXO.

2. Sx6u B MeHe OyJu TpOI, 51 6 KyIiia 6araTo TapHOTO OJISITY.
3. Bu 6 BuporyBasu 0BoUi, SKOU BY JKUJIA Y CEJIi?

4. MeHe crimTaJiu, Jie 3HaX0UThCsI KBAPTUPHE areHTCTBO?

Bapianm 13
Task 1. Read and translate the text. Ask 5 questions to the text.

Alice Elliott is at present specializing in the field of applied sociology
known as normative secular (as opposed to religious) ethics. Her
work consists mainly in formulating prescriptive statements as to what
the average, socially well-integrated individual ought to do when he or
she is faced with the necessity of making a choice between two/or more
than two/lines of action. Although she concentrates on what the average
person ought to do, she does not neglect the related disciplines which
deal with what one may or may not, must or must not, do under certain
circumstances. Alice, for whom life is a great adventure, is first of all
interested in real life situations well set in the social and psychological
context of the epoch. For example, a married man brought up in the
atmosphere of the full acceptance of monogamy suddenly becomes
emotionally involved with two women who are not his wives. The two
eruptions of feeling occur simultaneously. What ought he to do? Ought
he to get divorced? If so, which of the two women ought he to marry if his
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emotion is in both cases reciprocated? Ought he perhaps to try and forget
both or ought he to emigrate to a country where polygamy is customary?
Another example, an honest man who has a well paid job suddenly
realizes that his boss is mentally retarded or that his employer is rather
unintelligent. What ought the honest man to do? Ought he to desert his
poor superior (or employer as the case may be) or ought he to try and help
him? Ought he to pretend that he has noticed nothing or ought he to be
absolutely frank? Alice has accepted a number of principles, which she
treats as axioms in formulating her ethical theories and in working out
solutions to real life situations. Here are some of the axioms:

One ought to be true to oneself. One ought to try to lead an interesting
life. One ought to develop an interesting personality. One ought not to
waste one’s time. One ought to have the courage to change one’s mind.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. A. — All your clothes are years out of date. Why don’t you throw
them away?
B. — Don’t be ridiculous! If I (throw) my clothes away I (have) to ask
my husband for $1,000 to buy new ones.
2. A. — If you (ask) him for $1,000 what he (say)?

Task 3. Find the mistake and correct it. If there is no error, choose
option 5.

1. Since the development of the tape recorder, Braille is no longer the
sole method of communicating fine literature to sightless people.

2. Lemon sole is one of the many varieties of fish that can enhance a
meatless diet.

3. Sole music is very popular among people of all ages.

4. The concept of the soul does not have the same meaning in all

religions.
3. Noerror.
Task 4. Fill in the gaps with the correct form of the verb.
1. As well as the flute, she’s a superb pianist.
a) she plays; b) playing.
2. There’s a huge between the two accounts.
a) world; b) gap; ¢) discrepancy.
3. The strikes were by recent job cuts.

a) stemmed from; b) sparked off; ¢) resulted in; d) arisen.
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Task 5. Choose the correct translation.

1. 4 manmy itomy 3aBTpa.

A. I shall write him tomorrow. B. I shall write to him tomorrow. C. I
shall write for him tomorrow.

2. Bin GyB 3umii i posipBaB Jucra.

A. He was angry and tore the letter. B. He was angry and tore up the
letter. C. He was angry and tore down the letter.

Task 6. Translate into English.

1. XTo 3ycTpivuaB Bac Ha BOK3aJIi?

2. Bu kos-HeOy1b GaunJIu CXiJ COHIIS B TOpax?

3. S dekaro Ha Tebe BKe MIBrOJUHHU.

4. Ko BOHU TTOBEPHYJINCS 3 T€ATPY, [IiTH BXKE CIIAJH.

5. Ax6u Bu npuiiiuiv 0 cboMiii roguHi, Mu 6 yce 0OrOBOPUJIH.

Bapianm 14
Task 1. Read and translate the text. Ask 5 questions to the text.

(Dr. Searchie, a CC psychiatrist, gives a talk on the importance of self-
knowledge in medicine.)

Today I'm going to talk to you about self-knowledge as an important
factor in treating complaints of a psychosomatic nature. My contention is
that one ought to examine oneself before one goes to consult a physician.
By self-examination I do not of course mean any kind of routine medical
examinationin the ordinary sense of the word. I meanapurely psychological
process. The patient should look at himself or herself critically and try to
see himself or herself as he or she really is. As a general rule people have
too many illusions about themselves and they are inclined to like or dislike
themselves too much. Being unable to get a realistic picture of themselves,
they develop most acute and troublesome symptoms of a psychosomatic
and functional nature. The cure is as simple, or as complicated if you prefer,
as the truth which has to be faced. We must have the courage to find fault
with ourselves or to get rid of a false feeling of guilt as the case may be.
We must not feel too pleased or too displeased with ourselves. One must
never go too far. A psychoanalyst once asked a young woman: “How do
you manage to like yourself so much? Have you ever had a close look at
yourself in a good mirror?” The young woman went home, sat in front of
a mirror for twelve hours, then took an overdose of sleeping tablets and
almost killed herself. When I say that you must try and see yourselves as
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you really are, ladies and gentlemen, I do not mean that you should blame
yourselves to the point of self-annihilation or praise yourselves to the
point of being ridiculous. Only through constructive and carefully applied
self-analysis can one rid oneself of one’s complexes and neuroses and gain
genuine and permanent self-respect. I can offer you, ladies and gentlemen,
material, and I believe conclusive evidence, to support my contention. I can
present myself as an example. I have carried out a number of experiments
on myself. T was a sick man, ladies and gentlemen, and T have managed to
cure myself. Today I'm able to say honestly to myself and to you: “I know
that I know nothing. And yet, as you see, I have the necessary energy and
the courage to give public lectures”.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. If someone (ring) my door at 3 a. m. I (be) very unwilling to open
the door.
2. If T (see) a python in Piccadilly T (assume) it had escaped from the
circus.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.
1. Napoleon had a great deal at steak when he decided to invade
Russia.
2. Finally, William hammered the last stake into the ground.
3. I would enjoy a steak dinner tonight.
4. Sue was upset because her job was at stake.

3. No error.

Task 4. Fill in the gaps with the correct variant.

1. It’s not fair to blame Jack.  he was only doing what he was
told.

a) At the end of the day; b) Still; ¢) Hang on.

2. The company will have its in the centre of town.

a) whereabouts; b) foundations; ¢) headquarters; d) authorities.

3. She was very badly stung. She was attacked bya  of wasps.

a) shoal; b) swarm; ¢) herd; d) flock.

Task 5. Choose the correct translation.

1. Bin Takox He MPUATIOB.

A. He has not come either. B. He has not come too. C. He has not come
also.
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2. Bin aB MeHi myzKe CJIYIIHI TOPAIN.
A. He gave me some good advice. B. He gave me some good advices.
C. He gave me some good soviets. D. He gave me some good councils.

Task 6. Translate into English.

1. MeHi mosicHnIN, MO PaXyHKHU 32 €JIEeKTPUKY Ta Ta3 3apaxoBaHi 10
OPEHIHOI TLIaTH.

2. Mu mizieMo 32 MOKYNKaMU, KOJI Mara3uHy HAlIOBHSIThCS OApyH-
KaMmu z10 PisaBa.

3. dx6u BoHa 3aresehoHyBaja MeHi, 51 6 mpobauria ii.

Bapianm 15
Task 1. Read and translate the text. Ask 5 questions to the text.

Doctors say that great ambition is usually accompanied by increased
worry. The combination of these two factors often results in states of acute
nervous tension which not infrequently leads to heart trouble and stomach
ulcers. That probably accounts for the high incidence of heart disease
among professional groups whose work involves more than the usual stress
and strain caused by exaggerated ambition and worry. Mr. Baxter is a
typical example of an over-ambitious and worried executive. He is always
afraid that something unforeseen and rather unpleasant may happen to
him. He is insured against major misfortunes such as death, bodily injury,
burglary and theft, but there is always a possibility that something else
may go wrong. For example his stocks and shares might go down in value
on the Stock Exchange. He might suffer serious non-bodily harm such as a
broken heart against which he is not insured. He might unwittingly say a
wrong word to an important person or antagonize an influential friend and
never be able to win his friendship back. He might even lose his self-respect
or risk his reputation as a successful man. Anything may happen! Mr. Jones
might win from the pools and buy a luxury yacht or take a trip round the
world and thus leave Mr. Baxter a long way behind in the competition for
success in life. And Mr. Baxter might not be able to impress his own wife, if
he had a wife, any longer. Hundreds of unforeseen things may happen and
although it is impossible for Mr. Baxter to visualize them all, he cannot get
rid of the vague feeling of impending disaster.

Task 2. Put the verbs in brackets in the correct form. Conditional

sentences.

1. a) The plane was on fire so we baled out.

b)I don’t think I (kave) the nerve to do that even if the plane (be)
on fire.
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2. We train the children to file out of the classroom quietly in an orderly

way, because if a whole class (rush) at the door someone (get) hurt.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. Please, remain stationary while I draw your picture.

2. Irene wrote the letter on the finest stationary.

3. I believe you can buy staples at the stationary store.

4. This appliance cannot be moved,; it is stationary.

3. No error.

Task 4. Fill in the gaps with the correct word.

1. I didn’t do a(n) of work this morning.

a) stroke; b) article; ¢) spell.

2. After a few days it warmed up and the snow turned to in the
streets.

a) dizzle; b) slush; ¢) drizzle.
3. I wouldn’t say she was smart. She seems quite to me.
a) well-dressed; b) elegant; ¢) scruffy; d) stocky.

4. ‘Shrewd’ is an antonym of ¢

a) daft; b) gregarious; ¢) arrogant; d) dlscourteous

Task 5. Choose the correct translation.

1. Bin mpoBasMBCst Ha €K3aMEHi.

A. He failed from the exam. B. He failed the exam. C. He failed on the

exam. D. He failed in the exam.

2. Byzp nacka, Haragail MeHi, o0 s1 MOBEPHYB 110 Pi.
A. Please remember me to give it back. B. Please remind me to give it

back. C. Please recall me to give it back.

Task 6. Translate into English.

1. KBapTupomaseip oBijoMmia HaM, MO TOMiHSJIa KUJTAMOBE MOK-
PUTTS B yCiX KiMHaTaXx.

2. SIk6u 51 MaB MOJKJIMBICTD TIO3MYKMTH TPOII, 51 6, MOKIUBO, J0OYITY-
BaB JIiM.

3. Paniine BoHa He 3aiiMajiacs BEPX0BOIO 1371010, a 3apa3 30MPaEThCL.

4. Kum 6yB pospobiienuit qusaiia apromobiist “@osbkeBared bitir”?

Bapianm 16
Task 1. Read and translate the text. Ask 5 questions to the text.
Mr. Peter Snop has come to the conclusion that it would be interesting

to make a film. If he made a film, he would broaden the scope of his
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creative potentialities, he would show to the world that he was a really
versatile genius. The only serious obstacle is the problem of finding a
suitable subject for the film. Peter is a keen cinema goer and he likes films
about film directors. In one such film the film director was very much like
Peter. He wanted to make a very good film, but he could not. He tried
hard to make one, but he could not. That was why he had made a highly
intellectual film about his inability to make a good film. Peter thinks
that he could do the same. But if he did, spiteful people would say that
the idea was not original. And Peter would hate to be called unoriginal.
That is why he is at present considering the possibility of making a film
about a famous pop-singer who wants to sing much better than he does,
but he cannot, Alice Elliott says that a film like that would reflect the
fundamental dilemma of modern man.

Alice maintains that the dilemma consists in being unable to do what
one wants to do. Peter says that if he made a film, he would try to show
that a pop-singer is also a human being, that he or she usually prefers to
be happy rather than to be unhappy. He would show that the average pop-
singer may feel frustrated and that a great pop-singer might feel greatly
frustrated.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. — Why don’t you buy a season ticket? — Because I lose everything.
If I (buy) a season ticket I (lose) it.
2. — Why don’t you bring your car to work? If I (have) a car I (bring)
it to work.

Task 3. Find the mistake and correct it. If there is no error, choose
option J.

1. Kate attended a conference there.

2. There is the book I've been waiting to read.

3. Their’s is a truly open relationship.

4. I have never been to their summer home.

3. No error.
Task 4. Fill in the gaps with the correct word to complete
the phrasal verb.
1. You promised you would do it. Why did you go on your
word?
2. A great cheer went from the crowd as the match ended.
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Task 5. Choose the correct translation.

1. Tenep BiH 3HaIIOB PO6OTY B GAHKY.

A. He now found a work at the bank. B. He now found work at the bank.
C. He now found work in a bank.

2. Bin roBoputh Tak, HiOK BCe 3HAE.

A. He talks as if he is knowing everything. B. He talks as if he is knows
everything. C. He talks as if he is knew everything. D. He talks as if he is
known everything.

Task 6. Translate into English.

1. {lx yacTO MPUHOCATH MOTITY Y BAIIOMY MiCTi?

2. 4 nmonpocuiia 103BOJUTH MEHI TTITU HA KOHIIEPT Y T ITHUITIO.

3. Bin 3anpornonyBasB 1olapyBatH iii KHUTY KyJIiHAPHUX PETIETITiB.
4. Konu 6yB 3uecenuii bepinchkuii Myp?

Bapiaum 17
Task 1. Read and translate the text. Ask 5 questions to the text.

The Fog Horn (an extract)
by Ray Bradbury

The ensuing minute of silence was so intense that we could hear our
hearts pounding in the glassed area of the tower, could hear the slow
greased turn of the light.

The monster stopped and froze. Its great lantern eyes blinked. Its
mouth gaped. Tt gave a sort of rumble, like a volcano. It twitched its head
this way and that, as if to seek the sound now dwindled off into the fog.
It peered at the lighthouse. It rumbled again. Then its eyes caught fire. It
reared up, threshed the water, and rushed at the tower, its eyes filled with
angry torment.

“Mc. Dunn?” I cried. “Switch on the horn!”

Mec. Dunn fumbled with the switch. But even as he flicked it on, the
monster was rearing up. I had a glimpse of its gigantic paws, fishskin
glittering in webs between the fingerlike projections, clawing at die tower.
The huge eye on the right side of its anguished head glittered before me
like a cauldron into which T might drop, screaming. The tower shook. The
Fog Horn cried; the monster cried. It seized the tower and gnashed at the
glass, which shattered upon us.

Mec. Dunn seized my arm. “Downstairs!”

The tower rocked, trembled, and started to give. The Fog Horn and
the monster roared. We stumbled and half fell down the stairs. “Quick!”

We reached the bottom as the tower buckled down toward us. We
ducked under the stairs into the small stone cellar. There were a thousand
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concussions as the rocks rained down; the Fog Horn stopped abruptly.
The monster crashed upon the tower. The tower fell. We knelt together,
Mc. Dunn and 1, holding tight, while our world exploded.

Then it was over, and there was nothing but darkness and the wash of
the sea on the raw stones.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. They get $150 a week. They can’t get $150 a week. If they (do) they
(not be) striking for $120.
2. George is fourteen. He must be older than that. He’s in a full-time
job. If he (be) only fourteen he still (be) at school.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. Those two stairs make this house bi-level.

2. Hers was hardly a friendly stair.

3. We've already swept the stairs today.

4. Don’t stare at me!

3. No error.

Task 4. Fill in the gaps with the correct word to complete
the phrasal verb.

1. His business has gone , and he has lost everything.

2. The police found the bomb only five minutes before it was set to
go_

Task 5. Choose the correct translation.

1. CkapskaTbcs Ha CIIEKY.

A. They complain for the heat. B. They complain to the heat. C. They
complain at the heat. D. They complain on the heat. E. They complain of
the heat.

2. Bin cxoBaBcs 3a JiepeBo.

A. He hid against a tree. B. He hid behind a tree. C. He hid behind of
atree.

Task 6. Translate into English.

1. Ham He moTpiOHO TIEPENMATHUCS, U1 3aTIPOCITh HAC HA HOBOCIJIJISL.

2. 4 \e MiT 3p0O3yMiTH, YOMY BOHA TaK PaHO TIILIa 3 BEYipKH.

3. Yu motpi6Hi OyIyTh JIOASIM A€PeEBa i 3eJIeHe TOBKIJLIS, SIKIO BOHU
KUTUMYTH B XMapodocax y XXI cromiTri?

4. BoHa 3amuTaia, KOJIu s TIoBepHy GOPT.
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Bapianm 18
Task 1. Read and translate the text. Ask 5 questions to the text.

Peter Snop has become almost completely bald and rather fat.
The change has been so rapid that a certain number of Snop-fans still
cannot recover from the shock. Two days ago Peter Snop gave a press
conference at which he explained that he had deliberately changed his
appearance so as not to conform to the prevailing and generally accepted
standards. He said he was going to get rid of every single hair left on his
head. He declared that he would not feel really happy until the last vestige
of the old fashions had disappeared from the surface of his cranium. He
added that the time had come when it was necessary to look and feel
more serious. He declared he would do everything in his power to further
increase the mass of his body. He said he hoped that others would follow
his example. Mr. Snop assured the reporters that he would never accept
any compromise solutions and would always insist on the importance
of looking serious (i. e. hairless and corpulent). Mr. Snop’s inflexible
unconventionally won him the nickname of the Angry Young Rebel. It
also started the Angry Young Rebel’s style. Its two striking characteristics
are a hairless skull and a corpulent or even obese figure. Effective hair
removers in the form of lotions as well as inflatable figure enlargers of
various sizes have appeared on the market.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. — He is staying at the Savoy in London. — Is he very rich? — I
suppose he is. If he (be) a poor man he (not stay) ay the Savoy.
2. If T (have) heaps of money I (drink) champagne with every meal.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. I think it’s time that he buys a new suite of furniture.

2. We've already eaten our portion of sweets for this day.

3. The visiting lecture’s hotel suite was paid for by the university.

4. Don’t make the chocolate pudding overly sweet.

3. No error.

Task 4. Fill in the gaps with the correct word to complete
the phrasal verb.

1. The study guide explains how to go writing an essay.

2. I'm happy to go what he said. I think we all agree with him.
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Task 5. Choose the correct translation.

1. Tu noBuHeH GyB IPUIXaTH BYOPA.

A. You ought to come yesterday. B. You was to come yesterday.
C. You ought to have come yesterday. D. You must to come yesterday.
2. Ile fizie BCyTepey HAITM iHTEPECaM.

A. Tt is adverse in our interests. B. It is adverse to our interests.
C. It is adverse for our interests. D. It is adverse of our interests.

Task 6. Translate into English.

1. Bin 3anuTaB, 41 Mara3uH IPaIo€ y BUXi/HI?

2. Bam He /l0BeleThCs BUTpadaTu Garato 4acy Ha OIUIATy PaxyHKiB,
SIKIIO BU CKOPUCTAETECS KPEAUTHUMHI KaPTKAMIL.

3. Sdx6u st obpe Ti 3HaB, st 3aTesiedoHyBaB O 1il 1010MY.

4. SIx6u CMiTH MeHe 3alIPOCHIIH, S TTIIOB OM HA BUOPAIIHIO BEUipKY.

Bapianm 19
Task 1. Read and translate the text. Ask 5 questions to the text.

Peter Snop has been rather worried lately. His long and wavy hair has
been getting rather thin on top. He has been trying to stop the process by
using certain lotions called hair tonics, but without much success so far.
What will happen when he becomes bald? Will he still manage to look
attractive when his hair is gone? Will he still manage to look young? If he
no longer looks youthful, it will be a real tragedy. Not to look young is not
to be young and not to be young means that one is not in the privileged
social group. It is true that if the worst comes to the worst, he can always
start wearing a wig, but that idea is somehow rather unpleasant to Peter.
Besides, there is one other thing that worries him. He has been growing
rather stout lately. He has never suffered from lack of appetite and he has
always found it difficult, if not impossible, to refuse himself the pleasure
of good eating. But what will happen if he gets really fat? Won't he look
much too old? The appalling possibility of looking older than is accepted
among young people has become an obsession with Peter. He has been
suffering from fits of acute depression. Yesterday during one of such fits he
told Alice Elliott that he was going to commit suicide. He said that he was
going to jump from Westminster Bridge into the Thames next Friday.

Task 2. Put the verbs in brackets in the correct form. Conditional

sentences.

1. If I (have) heaps of money I (drink) champagne with every meal.

2. If you (drink) champagne with every meal you soon (get) tired of it.
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Task 3. Find the mistake and correct it. If there is no error, choose
option 3.
1. The boat was taken in toe after it’s motor failed.
2. We were toed all the way to the shore.
3. At the football game we had a bad case of frozen toes.
4. When you go beyond your own authority, you must step on
somebody’s toes.

3. No error.
Task 4. Fill in the gaps with the correct word to complete
the phrasal verb.
1. Are you planning to go this summer? We are going to

Greece for two weeks.
2. He ran out of the shop without paying, but the shopkeeper went
__him and caught him at the end of the road.

Task 5. Choose the correct translation.

1. Kuura MicTUTD 11'SITh TJIaB.

A. The book comprises in five chapters. B. The book comprises five
chapters. C. The book comprises of five chapters.

2. Heio-Mopk naui iz JIosgona.

A. New York is more distant than London. B. New York is further than
London. C. New York is farther than London. D. New York is farer than
London.

Task 6. Translate into English.

1. Tu He Oyjienn TAKUM TOBCTUM 32 YMOBH, 1[0 TH OY/IEIIl MEHIIIE ICTH.

2. Maiik i3 gpysamu mimm 6 MUHYJI0I Heniai y Teatp, ax6u He 6yJio
Jlolty.

3. Bin 3anutaB MeHe, YU S a0,

4. 51 6yB BIIEBHEHUH Y TOMY, IO HOTO HATIPABJISITH HA KOH(EPEHTIITo.

3. Jlinma 3amuTana MeHe, XTO KEPYE M 3aKIa0M.

Bapianm 20
Task 1. Read and translate the text. Ask 5 questions to the text.

Mr. Baxter is a man of illimitable ambition. As is usual in such
circumstances, he is hardly aware of the fact. He has always only one
objective in mind — only one at a time. He assumes that when he has
attained it, he will relax and enjoy life. What he does not realize is that
each objective is but a link in a very long, if not interminable, chain.
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At present he wants to have a better car than his neighbour Mr. Jones
has. When he has bought the car, he will want to have a better carpet
in the sitting room. When he has satisfied that desire, he will perhaps
start thinking of becoming famous, and so on and so on. One day when
he fails to get what he wants or what he thinks that he wants, he will
probably get a heart attack and die. But will he manage to die before
Mr. Jones dies? Who knows? No one will know until it actually happens
and when it does happen everyone will be too sorry for Mr. Baxter even
to think of Mr. Jones. But if Mr. Jones happens to die first, he will make
Mr. Baxter look very insignificant indeed. Mr. Baxter has good reason to
feel worried.

Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. Prime Minister on golf course: — I'm not at all worried about the
situation. If T (be) worried I not (play) at this moment.
2. — But I don’t want to buy an elephant! — I know that. But where
you (go) if you (do) want to buy one?
Task 3. Find the mistake and correct it. If there is no error, choose
option 3.
1. The damage has all ready been done.
2. Father was altogether too surprised to speak.
3. Events have borne out my prediction.
4. Perry is an altar boy at Queen of Peace Church.
3. No error.

Task 4. The following sentence has an error in word usage.
Chose the one best answer that would result in the correct
writing of the sentence.
The guide led us on a straight ascent up through the woods and to a
lovely veil.
What corrections should be made to this sentence?
1. replace led with lead 2. replace straight with strait 3. replace ascent
with assent 4. replace through with threw 5. replace veil with vale

Task 5. Choose the correct translation.

1. Mu He 3MOIJIM YMOBUTH $OTO TIOTPATH.

A. We could not persuade him to play. B. We could not convince him
to play. C. We could not persuade him play. D. We could not convince him

play.
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2. IIpuBiTaiiTe MeHe 3 TiABUIIEHHSIM.

A. Congratulate me for my promotion. B. Congratulate me with my
promotion. C. Congratulate me on my promotion. D. Congratulate me at
my promotion.

Task 6. Translate into English.

1. PaxyHOK Tpeba CTUIaTUTH [0 KiHIIsT MiCSITIs.

2. Ha BuGopax Gibiricts BUOOPIB MiATpUMaja Mepa.

3. A gyB, six Mepi FOMOBJISITACS TTPO CBOIO TIOJIOPOIK.

4. Meni 6yo 6 IysKe 3py4HO, IKOU BU MOTOIMINCS TIEPEHECTH 3YCTPiU
Ha HACTYIHUH BIBTOPOK.

Bapianm 21
Task 1. Read and translate the text. Ask 5 questions to the text.

Three distinguished looking men came to see Mr. Baxter in his office
the day before yesterday. They booked three seats on the first British
passenger rnoon rocket. They paid thirty thousand pounds in cash.
The men were CC officials, but for obvious reasons they did not disclose
their positions and gave fictitious names. The tickets are transferable to
other persons.

The first British passenger moon rocket will take offat 6 p.m. G. M. T.on
April 1,1999. Three members of the CC Lunar Reserve will be on board. If
the members appointed to carry out the task die before the launching of the
rocket, or if they are otherwise prevented from traveling, three alternative
functionaries will go in their place. A detailed programme for the First
CC Lunar Expedition has been worked out. The first three officials, called
burglonauts, will carry out a number of experiments. They will break
into a safe on board the rocket. In the event of there being no safe, they
will break into something else. On arrival they will deceive the Customs
officers. In case there are no Customs officers, they will deceive someone
else. They will rob the Central Moon Bank. In the event of there being no
Central Moon Bank, they will rob the Central Moon Post Office. If there
is no Central Moon Post Office, they will burgle an ordinary post office
or an ordinary bank. The burglonauts will maintain uninterrupted radio
communication with the CC Headquarters in London. In case effective
radio communication with the CC station in London proves difficult,
the burglonauts will break into a non-CC transmission center and operate
from there. In case the first three lunar burglonauts are prevented from
carrying out their duties, reinforcements will be flown in immediately.
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Task 2. Put the verbs in brackets in the correct form. Conditional
sentences.
1. — Why don’t you get a cat? If you (keep) a cat the mice (not run)
about everywhere.
2. — What time of the year do you think it is in the picture? Summer? —
No, it must be winter. If it (be) summer the people (not sit) round that big
fire.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. The family was all together for the annual picnic.

2. Terry’s mother cautioned, “If you break a window, you will have to
pay for it”.

3. Paris is the capital of France.

4. My mother was borne in Canada.

3. No error.

Task 4. Fill in the gaps with the correct word to complete the
phrasal verb.

1. Sandra and David have been going for about six months.

2. He has gone flu and has to stay in bed for a few days.

Task 5. Choose the correct translation.

1. Bin ckasas, 1110 1puiijie 3aBTpa.

A. He said that he would come tomorrow. B. He said that he will come

tomorrow. C. He said that he shall come tomorrow.

2. BiH ynieBHEeHWH B yCITiXY.

A. He is sure for success. B. He is sure at success.

C. He is sure of success. D. He is sure in success.

Task 6. Translate into English.

1. Mu criofiBaeMoch, 1110 1pobsiemy Gyjie BUPIlIeHo HalbImKInM va-
COM.

2. He cyrig 6ysio BTpayat Taky npekpacHy MOKJIUBICTb.

3. Mu ixanm Maitke Bi TOAWHU, KOJIH 3PO3YMIJIH, IO iIEMO Y IIPOTH-
JIEKHOMY HATIPSIMKY.

4. MeHi 31a€ThCs1, BaM 1TOTPIOHO OTPUMATH KOHCYJIBTALIIO Y IOPHCTA.

Bapianm 22
Task 1. Read and translate the text. Ask 5 questions to the text.

The CC Economic Prognostication Department has evolved a highly
objective and strictly scientific approach to the problems of prediction.
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The element of certainty or near certainty has replaced the antiquated
and not very reliable element of probability. Close cooperation with
the Retrospect Analysis Department and extensive use of electronic
computers have enabled the Prognostication Department to attain an
unprecedented degree of exactitude. The CC leaders do not have to make
or keep any promises regarding the economic future of the Organization
and its members. All they have to do is press the right button and relevant
information becomes available. The Prognostication Department has
recently released data concerning the economic situation of the CC and
its members in the year 2001. The data are fairly optimistic. The CC will
be controlling 45 per cent of the world’s distribution of financial means.
The Organization will be operating on a large scale on land, at sea, in outer
space and in the depths of the oceans. CC members will be working in
space ships, on the moon, in nuclear-powered underwater laboratories, in
international banks and in other international organizations and they will
be receiving relatively high salaries. They will be earning enough to live
in luxury. Every CC member will be carrying a transistorized electronic
computer in his pocket. This will give him a permanent advantage over
the non-CC environment in the field of cogitation and decision making.
Every CC member will be living a life free from hardship and anxiety in
cheerful conformity with the rules and spirit of the Organization.

Task 2. Put the verbs in brackets in the correct form.

1. T was supposed to take a test yesterday, but I (admit, not)
into the testing room because the examination (begin,

already) .
2. According to a recent survey, out of every dollar an American spends
on food, thirty-six cents (spend) at restaurants.

Task 3. Find the mistake and correct it. If there is no error, choose
option 3.

1. Was his work all right?

2. T use old shirts for cleaning cloths.

3. The dome on the capital is lighted each night.

4. Everyone was wearing his best clothes.

3. No error.

Task 4. Fill in the gaps with the correct form of the verb.
1. It’s noon. The mail should be here soon. It (deliver, usually)
sometime between noon and one o’clock.
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2. Only five of us (work) in the laboratory yesterday when
the explosion (occur) . Luckily, no one (hurt)

Task 5. Choose the correct translation.

1. Bin 3BuK migHiMaTHCS PaHO.

A. He is used to getting up early. B. He is used to getting up early.

C. He is used of getting up early. D. He is used to get up early.

2. Yuopa s1 6aurB XOPOIIHH (HigbM.

A. T was seeing a good film yesterday. B. T have seen a good film
yesterday. C. I saw a good film yesterday.

Task 6. Translate into English.

1. Bu noBuHHI BperyJioBaTH 11 TUTAHHS SIKOMOTa HIBUJIIIIE,

2. Hasimo Bu Ttak nocmimanun? Bam 1morpi6Ho OyJi0 IIOpaguTUCh 3
axiBiem.

3. Crape o6JiaiHaHHS TI0CTYIIOBO 3aMiHUJIM Ha CydacHIIIe.

4. 3BUUaiito, s 1OMOMIr OGM BaM BPETYJIIOBATH II€ TIUTAHHS, SIKOU 1€
3aJ1eKailo Bijl MeHe.

Bapianm 23
Task 1. Read and translate the text. Ask 5 questions to the text.

Yesterday was Mr. Crooksberry’s 49th birthday. The day before
yesterday a lorry was held up by a group of masked individuals. A metal
case containing seventeenth century gold coins was transferred from the
lorry to a private station wagon driven by a masked man. The attackers
drove away in four cars. The police found tracks of four unidentified,
German made cars. The hold-up operation was carried out by the Seventh
Striking Unit of the CC. The night before the hold-up the seventeenth
century gold coins, worth half a million pounds, had been recovered from
a shipwreck two miles off the northern coast of Britain. The ship had
been sunk during the English Civil War in the seventeenth century. The
location and finding of the wreck had been made possible thanks to the
cooperation of the famous philologist Professor Paul Potter. While doing
some research work, the Professor had come across a seventeenth century
manuscript of minor philological importance. The manuscript contained
information about the ship laden with gold coins. The salvage operation
at a depth of 100 fathoms had been carried out in secret by a team of
Navy deep-sea divers. The coins were being transported to an Edinburgh
Museum when the hold-up occurred.
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Yesterday evening a party was given at the CC Headquarters in London
to mark the 49th birthday of Mr. Crooksberry and the tenth anniversary
of the foundation of the CC. Mr. Crooksberry was presented with a huge
metal box containing seventeenth century gold coins. Mr. Crooksberry is a
keen numismatist. Collecting gold coins of all kinds is one of his hobbies.

Task 2. Use the verbs in brackets in the required Tense Form.

1. I'm sorry I'm late. T (hold up) by the rush hour traffic. It
(take) thirty minutes for me to get here instead of fifteen.
2. Before she graduated last May, Susan (offer, already) a

position with a law firm.

Task 3. Find the mistake and correct it. If there is no error, choose
option 5.

1. T applied the brakes immediately.

2. Cars are borne across the river on a ferry.

3. Are you feeling all right?

4. When you are all ready, I will pick you up

3. No error.

Task 4. Fill in the gaps with the correct form of the verb.

1. According to many scientists, solar energy (use)
extensively in the twenty-first century.

2. 1 (study) English here for the last two months. My English
(get) better, but T still find it difficult to understand lectures.

Task 5. Choose the correct translation.

1. Voro 6ymo amuicToBaHo.

A. He was amnestied. B. He was granted amnesty.
C. He was declared to amnesty. D. He was granted of amnesty.
2. 4 manumry iiomy 3aBTpa.

A. I shall write to him tomorrow. B. I shall write him tomorrow.
C. I shall write for him tomorrow.

Task 6. Translate into English.

1. Kouu y Bac GyJie KOMI'IOTeD, BaM He J0BEAEThCS MAPHYBATHU CTiJb-
KU 9acy.

2. He cuig Gyso cBaputuch. MoskHa GyJ10 BUPIIIUTH CIIPABY MUPHUM
TIJISTXOM.

3. Bu Bike 3pobuim potorpadiio 1Jist 3aKOPAOHHOTO MACIopTa’?

4. SIky 6 kiMHaTy BU He BUOpajM, B OyzeTe MOUyBaTUC B Hiil IysKe
KOMQOPTHO.
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Bapianm 24
Task 1. Read and translate the text. Ask 5 questions to the text.

It was a dark November night. Heavy clouds were drifting slowly over
Brighton. It was raining. A luxury villa on the coast stood dark and silent.
Nothing seemed to indicate that work was being done inside. Nothing
seemed to suggest that great works of art were being created on a mass
scale behind the closely drawn blinds. The upper part of the villa formed
a large and brightly illuminated studio. Abstract paintings of various
kinds and designs were hanging on the walls, drying. There were pieces
of canvas of various sizes stretched on the floor. The canvases were being
subjected to the process of mass creation. A tall bearded man was pouring
various paints on to the canvases which were being used as a playing
ground for twelve Siamese cats. The cats were joyfully running about,
leaving innumerable and multi-coloured imprints of their tiny feet on
the canvases. The bearded man was smiling absently.

It was a cloudless July night. A full moon was shining over Brighton.
A luxury villa on the coast stood dark and silent. Nothing seemed to
indicate that it was brightly illuminated inside. The blinds fitted perfectly
and they were drawn so that no lights were showing outside. Half of the
villa formed a large room which gave the impression of being a modern
conference hall. Maps of various kinds were hanging on the walls. There
was a long table in the middle of the room with comfortable-looking
chairs round it. Nineteen men were sitting at the table. They were wearing
dinner jackets. Narrow black masks were covering their eyes and part of
their foreheads and cheeks. Their mouths were not covered, but no one
was talking. They were sitting in silence, looking at the door: It was
clear that they were waiting for something or someone... On the stroke
of midnight a man entered. He was wearing a black tailcoat and no mask.
Big, horn-rimmed dark glasses were covering a large part of his face. His
large protruding nose looked as false as his flowing red beard. His long
silver hair was too thick to be true. Mr. Crooksberry, for it was he, took
the empty seat at the head of the table and the 28th Emergency Meeting
of the CC Supervisory Commission began.

Task 2. Use the verbs in brackets in the required Tense Form.

1. Right now a student trip to the planetarium (organize) by
Mr. Hunt. You can sign up for it at her office.

2. He is a man whose name will go down in history. He (forget, never)
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Task 3. Find the mistake and correct it. If there is no error,
choose option 3.

1. George is considered an imminent member of Congress.

2. The duke was received formally at the ambassador’s home.

3. Out of difference to her loss, we did not resume the music.

4. We could hear a vigorous discussion of current problems.

3. No error.

Task 4. Fill in the gaps with the correct form of the verb.

1. When you (arrive) at the airport tomorrow, you (meet)

by a friend of mine. He (wear)  a red shirt and blue jeans. He (be)
fairly tall and (have) dark hair. He (stand) _ near the

main entrance. I'm sure you will be able to find him.

2. A: Yesterday (be) _ aterrible day. B: What (happen) _ ? A:
First, I (flunk) a test, or at least I think I did. Then I (drop)
my books while T (walk) across campus and they (fall) into
a mud puddle. And finally, my bicycle (steal) . B: You should have
stayed in bed.

Task 5. Choose the correct translation.

1. Tu 6yB Ha 3aHATTI?

A. Did you attend the class? B. Did you listen to the lesson? C. Did
you follow the lesson?

2. BiH numaeThest CBOEW pobOTOIO.

A. He takes pride of his work. B. He takes pride from his work. C. He
takes pride with his work. D. He takes pride in his work.

Task 6. Translate into English.

1. Mu HacTiibKM 3axonuiancs 6ecijoln, no HiXTO He OMITHUB, K I1-
PEKTOP YBIHIIOB /10 KIMHATH.

2. Mu MoKeMO He TIocIinary. Y Hac e 6arato gacy.

3. Cuiizt 0yJ10 3aMOBUTH KBUTKH BYaCHO. 3apa3 ysKe Ii3HO.

4. 51 iny no maiictepi. Tpe6a moaroquTy Miii FOQUHHUK.

Bapianm 25

Task 1. Read and translate the text. Ask 5 questions to the text.

Last Friday evening Dr. Frederick Cracks, a CC expert on space
exploration, gave a lecture on the possibilities of future CC activities on
the moon. Here is an excerpt from his lecture:

“Mr. Chairman, ladies and gentlemen. I consider it a great honor and
privilege to be able to address you here tonight. I am going to talk to you
about the prospects of our work on the moon. I shall first try to give you
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a brief description of the physical aspects of the lunar operational field.
On the moon a man will weigh about six times less than he does here on
the earth. This will enable him to jump to a height of eighteen feet above
the lunar surface without much effort. He will also be able to move very
fast over the ground. His movement will assume the form of leaping strides
of up to forty feet in length. As the surface of the moon is curved almost
four times as much as that of the earth, it will be possible for a man moving
over a perfectly flat area to disappear below the lunar horizon within five
minutes”.

“Ishallnowconsidersomeofthepracticalimplicationsofthelunarphysical
conditions. The reduced weight of the human body and the possibility of
making high jumps will render rope ladders and other similar equipment
unnecessary except in very special cases. A pedestrian will be able to jump
on to a third floor balcony or window, inspect the inside of the premises,
jump down inconspicuously and continue his stroll in the street without
drawing unnecessary attention because there will not be many people in
the street. Incidentally, our experts are already working on a prototype of
special lunar shoes with springs. The springs will considerably increase the
jumping power of our operational squads. As I mentioned before the time
of disappearance below the lunar horizon for an ordinary man will be about
five minutes. I wish to assure you, ladies and gentlemen, that thanks to the
efforts of our scientists and technologists it will not be five minutes for us.
It will not be three or even two minutes. It will be feasible for a CC member
on duty to disappear below the horizon within a fraction of a second. And
it will be absolutely essential to get below the horizon as quickly as possible
because not only visibility, but also radio communication will be possible
only within the horizon limits. Disappearance below the horizon will mean
perfect safety from police radio cars”.

Task 2. Put the verbs in brackets in the correct form.
Conditional sentences.
1. Your notes are almost illegible. Why don’t you type them? If you
(type) they (be) a lot easier to read.
2. A university degree is a useful thing. If I (have) a university degree
I now (sit) in a comfortable office instead of standing at a street corner
selling newspapers.
Task 3. Most of these sentences contain one mistake. Correct it or
write “right”.
1. My neighbor is very proud of her new grandson who born last
week.
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2. I'm very fond of this old brooch because it was belonged to my
grandmother.

3. My family live in Ukraine but T was educated in Britain.

4. T'm afraid I can’t lend you my camera. It’s repairing this week.

5. The bridge was collapsed during the floods but fortunately no one
was using it at the time.

Task 4. Fill in the gaps with the correct form of the verb.

1. The Mayor of Paris ____ attend the service tomorrow before leaving
the city.

a) is about to; b) is to; ¢) is on the point of.

2. These pillsare _ with any other medicine.

a) not to be taken;  b) not take; ¢) due to be taken.

Task 5. Choose the correct translation.

1. Tonnomararu 6igHUM — I1e HaII 000B SI30K.

A. It is our duty to help the poors. B. It is our duty to help the poor.
C. It is our duty helping the poor. D. It is our duty to help the poor.
2. 3aunHUTH J1BEPi?

A. May I shut the door? B. Will I shut the door?

C. Shall I shut the door? D. Could I shut the door?

Task 6. Translate into English.

1. A mouyB, Ik MOI KOJIeTH cBapsThC, 1 BUPIMINB TiTH 10 HUX Ta 3a-
IIUTaTH, Y YOMY pid.

2. He crig 6yJio HIYOTO 3MIHIOBATH.

3. Bu He 3amnepeuyeTe, SKIIO S 3aJIUNTY BAM CBOE TTOBIIOMJIEHHS?

4. 51 BoJIiB OU OPAAMTUCD 3 KMMCh, HisK 3pOOUTH IOMUJIKY.

Bapianm 26
Task 1. Read and translate the text. Ask 5 questions to the text.

During a sleepless night last Monday, Mr. Hawk suddenly realized
that he was in love with Alice Elliott. He came to the conclusion that
he had been in love with her for months if not for years. Only his
extreme shyness and reserve (i. e. his inhibitions) had kept the feeling
deep in his subconscious and prevented It from coming to the surface.
The whole thing became obvious when Mr. Hawk read a chapter in a
textbook on modern psychology. He had taken the book from the local
library by mistake the previous day. He knew he had made a mistake the
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moment he had opened the book at home, but is was too late to go back
to the library. Out of curiosity he read a chapter in the evening. Then he
started to psychoanalyze himself and he saw clearly that his whole life
had been a series of self-deceptions, half-truths or lies. It came to light
that he had always wanted to murder Mr. Baxter and burgle his safe, to
run away with Alice Elliott and become a cowboy. In the course of this
relentless process of self-revelation, he came to the conclusion that all
his life he had been a fool. The thought had a sobering effect on him. Had
he been a fool or was the book wrong? Surely the book was wrong! He
returned it to the library the following morning and quickly forgot the
whole thing.

Task 2. Put the verbs in brackets in the correct form.

1. T (be) very grateful if you kindly (sign) this document and let me
have it back as soon as possible.

2. If the earth suddenly (stop) spinning we all (fly) off it.

Task 3. Most of these sentences contain one mistake.
Correct it or write “right”.
1. If you aren’t careful what you're doing with that hammer someone
will hurt in a minute!
2. The word ‘stupid’ was in my report but it wasn’t referred to you.
3. I'm sorry T am late. I got held up in the traffic.
4. When did you discover that the money had been disappeared?
5. Children under the age of seven do not allow in this pool.

Task 4. Rewrite the sentences using an if construction.

1. She is very shy; that’s why she doesn’t enjoy parties.

2. The flats are not clearly numbered, so it is very difficult to find
them.

Task 5. Choose the correct translation.

1. Yepes 11€ BiH X0Ye MMOIXATH.

A. But of this he wants to leave. B. For this he wants to leave. C. For
this reason he wants to leave.

2. CTynieHT CKJIaB icIuT.

A. The student took his examination. B. The student held his
examination. C. The student gave his examination.

Task 6. Translate into English.
1. 4 mouys, mo Karepuna po3MOBJIsIE 3 HAITUM MAPTHEPOM aHTJIICH-
KOIO.
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2. Mu nobaumiiu, K IOJIiCMeH MiAiAIIOB 10 BOIIs Ta IOCh 3allUTaB y
HBOTO.

3. [lepexomstum mopory B AHTJII, ClIEPITy TOMBITHCS TIPABOPYY, a HE
JIiBOpYY.

4. Bonu noBuHHI GyJIu 1aTH BiANOBIAB 1€ BYOpA.

Bapianm 27
Task 1. Read and translate the text. Ask 5 questions to the text.

You think that you are a success in life. You are wrong. You are
a complete failure. You imagine that you are a VIP (Very Important
Person) because you have your office, your employees, your car and your
money. You are forgetting, Mr. Baxter, that the office is not your property.
It belongs to a number of shareholders. The employees are not yours,
either, because you cannot own people. The car and the money are yours
today. But tomorrow? Who knows? You spend a lot of money and yet you
are a beggar. You never look at the stars because you have no time. Whose
are the stars, do you think? They are mine. And the air is mine and the sea.
They are mine because I know how to enjoy them. I work and I get a salary
for my work. But I get the sea, the stars and the air free. They belong to me
and to people like me, to people with imagination. They are ours because
we know how to look and how to breathe. Our salaries and wages are
often small, but the world is ours. Mine, Mr. Brown’s and Miss Flight’s.
Mr. Brown has an old telescope. Every night when the sky is clear, he
looks at the stars and his old telescope brings them close to him, shows
him stars which cannot be seen with the naked eye. And they are all his
because he looks at them, sees them and loves them. Miss Flight loves art,
and all the pictures in the London museums are hers because she has time
to go and look at them. You, Mr. Baxter, take only part of her time. The
rest is hers and she knows what to do with it. The trouble with you is that
you sell all your time for money. That is why you are a failure and a beggar.
People like Mr. Brown and Miss Flight are really rich and successful. They
are rich because their lives arc rich. They are successful because the whole
world is theirs. And real happiness is theirs, too. Now, Mr. Baxter, are you
a VTP? Are you a clever fellow? Or are you a damned fool? T hope you
will give it some thought and draw your own conclusions.

Task 2. Put the verbs in brackets in the correct form
1. — We didn’t exactly break down. We had a puncture. — But if it (be)
a puncture why you (not change) the wheel and come on?
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2.1 have a particular desire to win the Football pools. If T (win) an
enormous sum everybody (write) to me for money.

Task 3. Most of these sentences contain one mistake.
Correct it or write “right”.

1. The coffee is smelling wonderful.

2. Last year we visited the States.

3. The shop sank because the engineer wasn’t calling for help until it
was already thinking.

4. The reason I get fat is that I am always tasting things while I am
cooking.

3. How is Jennifer? Does her health improve?

Task 4. Rewrite the sentences using an if construction.

1. You work too fast; that’s why you do so many mistakes.

2. English people speak very quickly. Perhaps that’s why I can’t
understand them.

Task 5. Choose the correct translation.
1. Cobaku HeJOBIPJIUBI 10 UyKHUX.
A. Dogs are suspicious on strangers. B. Dogs are suspicious for
strangers. C. Dogs are suspicious to strangers.
2. TTos6asienuii ycboro.
A. Deprived everything. B. Deprived of everything. C. Deprived from
everything.
Task 6. Translate into English.
1. Bouu moBuHmi 6yJM AT BiAMOBIAD 1€ TYZKAEHH TOMY, ajle MU ii
JIOC1 He OTPUMAJIH.
2. Ydopa HaM BiJI[peMOHTYBAJIM KOMII IOTEP.
3. Mesi 6 He xoTijgocs, 100 BU MAPHO BUTPAYaiy CTLIbKHU Yacy i rpo-
TIei.

Bapianm 28

Task 1. Read and translate the text. Ask 5 questions to the text.

Mr. Cyril Cleaves had a date with Alice Elliott last Tuesday evening,
but she did not turn up. He telephoned her flat from a nearby telephone
box to find out what had happened, but no one answered the phone.

Alice did not hear the telephone bell ring. She was sitting at her desk
deep in thought. She had been sitting like that for hours. She had been
trying to find appropriate words and expressions to convey her thoughts
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adequately. She had been composing an essay. Unaware of the passage of
time and oblivious of her surroundings, she had been writing, biting her pen,
tearing up sheets of paper, talking to herself and writing again. Abstract and
academic sentences formed under her pen only to disappear in the waste
paper basket. There was a frown on her forehead and a tired expression on
her face. She had been thinking too hard and smoking too much. There
were tears in her eyes. That was not because she had been crying. She had
not. But she had been working in clouds of cigarette smoke. Suddenly she
stood up, went to the window and looked out. The air was cool and there
were pools of water in the street. It had been raining hard, but the rain
had now stopped. She looked at the street again and remembered the date,
which she had not kept. She hurried to the hall and dialed Mr. Cleaves’s
number No one answered. Apparently Cyril had not returned.

Task 2. Use the verbs in brackets in the correct tenses.

1. If he (not take) his gloves off he (not get) frost bitten.

2. She was sent to prison only because she refused to pay the fine; if she
(pay) the fine she (not be) sent to prison.

Task 3. Most of these sentences contain one mistake. Correct it or
write “right”.

1. You're quite right, I'm completely agreeing with you.

2. What did you do after you left school?

3. Now I understand what you’re trying to say!

4. I can’t imagine why you were believing all those rumors.

3. Joseph looked forward to a peaceful weekend, when his brother
arrived with all his friends from the football club.

Task 4. Rewrite the sentences using an if construction.

1. He spends hours watching television; that’s why he never has time
to do odd jobs in the house.

2. My house is guarded by two Alsatian dogs. That’s the only reason it
isn’t broken into every night.

Task 5. Choose the correct translation.

1. Bin po3kasiBcs y CBOIX Tpixax.

A. He repented on his sins. B. He repented of his sins. C. He repented
from his sins. D. He repented to his sins.

2. BiH copoMUTBCS CBOET TIOBEJIIHKY.

A. He is ashamed with his conduct. B. He is ashamed in his conduct.
C. He is ashamed of his conduct. D. He is ashamed by his conduct. E. He
is ashamed to his conduct.
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Task 6. Translate into English.

1. [lerextus 6auus, 9k bieiik MiHaAB rpoiui B GaHKY.

2. 51 naBHO Bke XOTIB II03HATOMUTH Bac 13 MOIMH KOJIETaMU.

3. Bam 0060B’s13K0BO TOTPIOHO POITJISTHYTH 110 MPOMO3uIli. Boxa
3/1a€THCS JIy:Ke IiKaBa.

4. Ha itoro micui g 6 ogyMas ABivi, IepIl HiX JaBaTH OCTATOYHY Bif-
IIOBi/Ib.

Bapianm 29
Task 1. Read and translate the text. Ask 5 questions to the text.

(An excerpt from Dr. Cracks’s address to the 3-rd Congress
of the CC Scientists and Technologists)

“Mr. Chairman, ladies and gentlemen. In the course of human history
the present Congress is the most important although perhaps not the most
widely publicized event in the field of science and technology. And what
can be more vital to the present day world than science and technology?
We all know that the answer is: Nothing!

During the past decades the rapid development of science and
technology has transformed the face of the earth beyond recognition. And
you arein a position to know best that whatever the achievements of world
science have been, the CC has always been well ahead of them. This has
been possible thanks to your genius and your work, ladies and gentlemen.
Non-CC scientific and research centers have, no doubt, obtained many
spectacular results, but our results have always been better. To quote only
a few examples: those centers of research have managed to produce very
fast vehicles indeed, but our vehicles are faster. Non-CC scientists have
made it possible for the industries of various countries to manufacture
lethal chemical substances of extraordinary power. They, the non-CC
world, have been very successful indeed, but we have been more successful.
Our chemicals are even more deadly and they are less bulky. They, the non-
CC world, have admittedly produced more destructive explosives, but
our explosives are more sophisticated and more convenient to handle.
They have gone very far indeed in spending huge sums of money on space
exploration. We have managed to go much further, although in a different
direction. Our space programine is conceived not in terms of expenditure,
but in terms of net profits. And I dare say, ladies and gentlemen, that
our programme is not any worse for it. In fact I believe that it is much
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better. The CC scientists are the best paid scientists in the world and at
the same time the CC gets the highest profits out of science. Our worst
paid laboratory assistants are much better off than the best paid non-CC
experts. And I need hardly remind you, ladies and gentlemen, that we are
not state subsidized. We are an entirely self-supporting organization. We
work, we live and we enjoy life the really big way!”

Task 2. Use the verbs in brackets in the required Tense Form.

1. He didn’t tell me he was a vegetarian till halfway through the meal.
If he (tell) me earlier I (cook) him something more suitable.

2. Why didn’t you say you were short of money? If T (know) I (lend)
you some.

Task 3. Most of these sentences contain one mistake. Correct it or
write “right”.
1. Philippa heard the results of the election as she was driving to work,
so she phoned me when she got there.
2. Oh, I'm sorry, I've spilt some tea. Where are you keeping the paper
towels?

Task 4. Fill in the gaps with the correct form of the verb.

1. The job is much worse than I expected. If T (realize) how awful it
was to be I (not accept) it.

2. It was the drug, not the disease, that killed him. He would still be
alive today if he (not take) that drug.

Task 5. Choose the correct translation.

1. Knac pogiiiioBcst y norJsijiax.

A. The class was divided in its opinions. B. The class was divided in its
opinion. C. The class was divided in their opinions.

2. Bu minum BeyTmiepey 3aKoHy.

A. You ran discrepant with the law. B. You ran afoul to the law. C. You
ran discrepant to the law. D. You ran afoul of the law.

Task 6. Translate into English.

1. 4 nymaio, BaM OTPiOHO BUIIUTH TapsIuol KaBU, MEPI HijK BU ITizeTe.

Beuip takuit xomomHuUi.
2. Mu gaBHo iioro He Gaunnn. Hesuri roBopuTs, 110 BiH fysKe 3MIHIBCS.
3. Kosut romuHHUK TPOOUB OJIMHAIISITE, BiH yCe IIe MPaIioBas.
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Bapianum 30
Task 1. Read and translate the text. Ask 5 questions to the text.

At present Alice Elliott is entertaining her Polish pen-friend Peter
Snop. Peter is a student of psychology at Warsaw University. He is not
only a student, but also a pop-singer. His repertoire consists mainly of
English and American pop-songs. Peter has come to England to cure a
complex. The complex has been caused by his difficulties in pronouncing
correctly certain English words such as: “love, baby, remember, for ever,
never, forget”.

At Liverpool Street Station Peter was met by Alice. She had arranged
for him to stay at a students’ hostel. They went to the hostel on a double-
decker bus. Peter got very excited and wanted to sing on the bus, but
stage fright prevented him from doing so. In the days that followed
Peter did a lot of sightseeing. On the fourth day of his stay in London he
visited a students’ club where he sang several songs. The audience were
delighted. Peter was congratulated on the charming way in which he
pronounced English. In his interpretation simple words like: “love, baby,
remember, for ever, never, forget” assumed a new significance and were
hardly recognizable. They became almost abstract symbols. Peter has
been in London for five days now. He has spent most of the money that
he brought to England. His initial optimism has cooled off a little. He has
not managed to get a job as a psychologist and his offer to sing songs has
been turned down. But Peter does not complain. He has found a job. He is
washing dishes at a nightclub.

Task 2. Use the verbs in brackets in the required Tense Form.

1. This room is freezing because the fire has only just been lit. If it (be
lit) this morning, as I suggested, the room would be warm enough to sit
in now.

2. T overslept; that’s why I'm half an hour late; and if my phone (not
ring) at nine o’clock I might still be in bed.

Task 3. There are seven mistakes. Find and correct them.

I'would like to apply for the job of shop manager, which I see, advertised
in the local newspaper.

I am twenty years old. T was born in France but my family moved
to England when T was twelve and I am living here ever since. T have
several jobs in shops for three years and since then I am working in Halls
department store.
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The manager has been saying that he is willing to give me a reference.
I speak French and English fluently and I have learnt German since I

left school, so I speak some German too.

I hope you will consider my application.

Task 4. Fill in the gaps with the correct form of the verb.

1. Tt was rather a dull game so I left before the end; if T (wait) another
five minutes I (see) Chelsea scoring a really exciting goal.

2. The paraffin heater was perfectly safe. There (not be) a fire if the
children (not knock) it over.

Task 5. Choose the correct translation.
1. Bonu o6uBa He XOAMUIN 10 TKOJIH.
A. Both of them did not go t school. B. Both were not going to school.

C. Neither of them went to school.

2. BiH cKapKUTHCS HA MaJIHii 3apOOITOK.
A. He complains that his wages are low. B. He complains that his wages

is low. C. He complains that his wage is low.
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Task 6. Translate into English.

1. SIxuo BiH KUHE 3BUYKY KypPHUTH, B HHOTO Oy/ie GiJibliie rpole.

2. Mapk ckazas, 1110 BOHUM OJIPY?KaThCs TicJis oro noBepuenns 3 I1a-
puKa.

3. Bin momikoyBas, 1[0 CcKa3aB iil IpaBiy, KOJu 1100a4uB, 110 BOHA
nJiaye.

4. Xoua ojiHa 3 IPOBIJIHUX AKTPHC 3aXBOPIJIA, BUCTABA BifI0y1aCh.
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